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Question Number : 1 Question Id : 54062617314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bathukamma festival belongs to

Options :

1. * Tamil Nadu

2. % Goa

3. % Kerala

4. ¥ Telangana

Question Number : 1 Question Id : 54062617314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



JgPHABR USR5l
Options :

1. % qierrg

2. % Tal

3. % Rd

4, & qTAT

Question Number : 2 Question Id : 54062617315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of festival — state is correct?

I. Anduri Utsav — Uttarakhand
II. Pang Lhabsol — Sikkim

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 2 Question Id : 54062617315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIER - X4 &I FYfARad # ¥ i 91 3 981 62

1. 3igR I - ITRIES
1. U7 <gTadid - fafawmd
Options :

1. % $had |

2. % had Il

3. ¢ 1 AU Gl

4. % qGIIATE I




Question Number : 3 Question Id : 54062617316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which image is printed at the back of Rs. 500 note of Mahatma Gandhi (New) series?
Options :

1. % Mangalyaan

2. ¥ Red Fort

3. # Sanchi Stupa

4. % Ellora Caves

Question Number : 3 Question Id : 54062617316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI el gRaar (i) & 500 TUT & e & S S 91 o sur 82
Options :

1. % HIeAH

2. ¢ I Tl

3. % il WU

4. % UARI P [HIY

Question Number : 4 Question Id : 54062617317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding the intermediate goods in an economy?

I. These are not final goods.
II. Steel sheets used for making automobiles is one of its examples.

Options :

1. % Only I

2. % Only II

3. % Both I and I



4. % Neither I nor 11

Question Number : 4 Question Id : 54062617317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffad su/ey=i § @ o 918 srforawyr § Aerad aegall & Jeu # agl 2782

1. 4 3R A1 e ]

1L T8 911 & T IuanT 61 T areft Wi 2fie 3961 U Iererur gl
Options :

1. % Had |

2. % Had Il

3. ¢ 13RS

4. % AL AT

Question Number : 5 Question Id : 54062617318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fishes breath through there

Options :

1. ¥ gills

2. % skin

3. * tail

4. % eyes

Question Number : 5 Question Id : 54062617318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TBfeRi oM & SR g Bl o
Options :

1. ¢ TIAG ST (gills)

2. % oddl



3. % U9
4, % 3G

Question Number : 6 Question Id : 54062617319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a concave mirror, when object is at inflinity then image is
Options :

1. ® atC

2.¥ atF

3. * beyond C

4. * at infinity

Question Number : 6 Question Id : 54062617319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3gdq i ¥, S ffg sFd R elarg diufafds . grarg
Options :

. % CW

2.¥ FIR

3.% CHW

4. % FAdWR

Question Number : 7 Question Id : 54062617320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Sliding friction > static friction
II. Rolling friction > sliding friction

Options :
1. ® Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 7 Question Id : 54062617320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifad § 3 s T ag 22

1. gdf o1 > Rifge ¥y
11, Aef-e IuuT > Juf geoy

Options :

1. % Had |

2. % Had II

3. % [ QYT
4. TIRIIATR I

Question Number : 8 Question Id : 54062617321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which continent is the largest producer of diamonds in the world?
Options :

1. % Asia

2. % North America

3. % Europe

4. ¥ Africa

Question Number : 8 Question Id : 54062617321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T HETEIT fay b1 T 5781 &R BT IATGH 82

Options :



1. % TRm

2. % IR ANDT
3. % U

4. ¥ PIBH]

Question Number : 9 Question Id : 54062617322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Sedimentary rocks may contains fossils.
II. Igneous rocks can change into metamorphic rocks under great heat and pressure.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 9 Question Id : 54062617322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

. el A & Sared +t 81 gd g |

1. 39 Y I d19 U4 G1d & HRUI HRIfdd Al A gafdd gt Il 3
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 10 Question Id : 54062617323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct about Mahanadi?

I. Mahanadi rises in highlands of Chhattisgarh.
I1. Its length is about 860 km.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 10 Question Id : 54062617323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETe & Tau H FafiRad # 3 &1 a1 98l 8

1. AEHC! BT 3¢H SxiaTe & ST A BT gl
1. TIH! TS THTHT 860 f. 7. B

Options :

1. % Hadl
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 11 Question Id : 54062617324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At , Buddha taught for the first time.
Options :

1. % Rajgir

2. ¥ Sarnath

3. ® Vaishali



4. % Vajji

Question Number : 11 Question Id : 54062617324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W, §g A UgH IR SUc fear |
Options :

1. % JOFIR

2. % qRAY

3. % Tl

4. % gioyl

Question Number : 12 Question Id : 54062617325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was ‘Poona Pact’ introduced?
Options :

1. % 1930

2. % 1922

3.9 1932

4, % 1928

Question Number : 12 Question Id : 54062617325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT e’ P YRS ford a8 A g3 o
Options :
1. % 1930
2. % 1922
3.9 1932
4, % 1928




Question Number : 13 Question Id : 54062617326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Partition of Bengal is/are correct?

L. It was happened in 1905.
II. It was done by Viceroy Curzon.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 13 Question Id : 54062617326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfRd & 9 SH 9/ $UF e & [AuTeH & ged & 98 8780

1. T8 1905 T 31 1|
I1. g5 dIgaR1yg ol & R BT T
Options :

1. % FHad 1
2. % Had Il
3.9 1 AU Gl
4. % qGIIATRIII

Question Number : 14 Question Id : 54062617327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has written the book “The End of India”?
Options :

1. # Amartya Sen



2. % Khushwant Singh
3. #* Shashi Tharoor
4. % Amitav Ghosh

Question Number : 14 Question Id : 54062617327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R 3 it <R Rrca R Rl 22
Options :

1. % 3 O

2. ¢ WRIGd g

3. % TRIPRR

4. % 3fffrdrd Oy

Question Number : 15 Question Id : 54062617328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many people were given Padma Bhushan in 2021?
Options :

1. ¥ 10

2.% 12

3.% 8

4. % 14

Question Number : 15 Question Id : 54062617328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2021 ¥ U1 Y07 fob AT b1 feam T T2
Options :

1.+ 10

2. % 12



3. %8
4. % 14

Question Number : 16 Question Id : 54062617329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who publishes Global Gender Gap Report?
Options :

1. # International Monetary Fund

2. % Asian Development Bank

3. ¥ World Economic Forum

4. ¥ World Bank

Question Number : 16 Question Id : 54062617329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT s 1Y NI B9 USRI B! 82
Options :

1. % R g1 oy

2. % TREE Qe d6

3. ¢ {3y SHHIMHD BRA

4. % Yy dp

Question Number : 17 Question Id : 54062617330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amendment of Indian Constitution ceased the recognition granted to Rulers of Indian states and abolished privy purses?
Options :

1. ¥ 26

2. % 38

3. % 21



4. % 15

Question Number : 17 Question Id : 54062617330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR FfAUT & S F TN A SR % AU P ATDH! D1 al T3 -1 FHIE B qT ol ferdl o1 sid fpam
Options :

1. ¥ 26

2. % 38

3. % 21

4. % 15

Question Number : 18 Question Id : 54062617331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with the power of parliament to amend the constitution and procedure therefor?
Options :

1. * 361

2. ¥ 368

3. % 373

4. % 378

Question Number : 18 Question Id : 54062617331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TWAYT &1 D AT SJe AU BT IR I D1 I¥E $1 fad 3R 3T fad Ufehar I Faiferd g2
Options :

1. * 361

2. ¥ 368

3. % 373

4. % 378



Question Number : 19 Question Id
Orientation : Vertical

: 54062617332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
How many silver medals did India won at 2016 Olympic games?

Options :
1.% 0
2.¥ 1
3.% 2
4. % 3

Question Number : 19 Question Id
Orientation : Vertical

: 54062617332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

2016 ATARID T H HRA A fHhd= I9d USd Sitd?

Options :
1. %0
2.¥ 1
3.% 2
4. % 3

Question Number : 20 Question Id
Orientation : Vertical

: 54062617333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which country won the 2019 FIFA U20 World cup?

Options :

1. # South Korea
2. ¥ Ukraine

3. #* Ecuador

4. # Uruguay

Question Number : 20 Question Id

: 54062617333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2019 BT T 20 ITE HY DI I T 7 S

Options :

1. % Gi&or iR
2. Ggb

3. % IHSR

4. % I¥Q

General Ability
Group Number : 2
Group Id : 540626640
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability
Section Id : 540626822
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1



Sub-Section Id : 540626992
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062617334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.

AKTU, BIUS, CGVQ, DEWN, ECXM
Options :

1. ¥ DEWN

2. % BIUS

3. # ECXM

4. % CGVQ

Question Number : 21 Question Id : 54062617334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3FhH faan T 3, Ford ¥ U U 71ad ¢ | 73U 7Y fased! o 9 39 71ad Ug & gHu|

AKTU, BIUS, CGVQ, DEWN, ECXM
Options :

1. ¥ DEWN

2. % BIUS

3. ¥ ECXM

4. % CGVQ

Question Number : 22 Question Id : 54062617335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.

GRAMB, IVERH, KXIWN, MAMBT, ODQGZ



Options :

1. # ODQGZ
2. # GRAMB
3. ¥ MAMBT
4. ¥ IVERH

Question Number : 22 Question Id : 54062617335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hH foar T 8, Ford ¥ U ug 7T ¢ | fau 7Y fased! #f 9 39 71ad g & gHu|

GRAMB, IVERH, KXIWN, MAMBT, ODQGZ
Options :

1. ¥ ODQGZ

2. % GRAMB

3. ¥ MAMBT

4. ¥ IVERH

Question Number : 23 Question Id : 54062617336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % CL-LC

2. % KW-WK
3. % BY-YB

4, ¥ NM — MP

Question Number : 23 Question Id : 54062617336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T uy H IR gw w1 () % Iri 3R ol T 31eR () & ol SR ol TR S1aR | fopdt b/ Mam/adey @ Tefid g1 o 3
TH ab/aHAeY & YR IR 994 ¢ | fou T8 fawedt & 9 favw &1 gfu)

Options :

1. % CL-LC

2. % KW - WK

3. % BY-YB

4. ¥ NM — MP

Question Number : 24 Question Id : 54062617337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Chisel : Sculptor :: Saw : ?
Options :

1. ¥ Carpenter

2. # Teacher

3. % Table

4. # Building

Question Number : 24 Question Id : 54062617337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRaa uy & fau Tu faswed! & @ Haifda et &1 gl
ﬁ:mzz SRT 2 ?

Options :

|.¥ §¢s

2. % JAUD
3, % O
4. % ARG



Question Number : 25 Question Id : 54062617338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(TRAB, JHZA, IGPQ)
Options :

1. % (ALPM, UVTH, PADB)
2. % (KNSQ, YZVR, ZDHF)
3. ¥ (GBLK, SSIN, VQAZ)
4. % (ANJH, QQVH, PCYX)

Question Number : 25 Question Id : 54062617338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffaa uy & el &1 ue I9g R a1 8 | Ul THg & 3R I THE & 3ierl & wry fryg ad/Aaudey 3 gefia g1 fad e
fqemedl T 9 31&RI & Uh g P! T Il THMH dob/FaH/ e BT SRR Hcll 8

(TRAB, JHZA, IGPQ)
Options :

1. ¥ (ALPM, UVTH, PADB)
2. % (KNSQ, YZVR, ZDHF)
3. % (GBLK, SSJN, VQAZ)
4. % (ANJH, QQVH, PCYX)

Question Number : 26 Question Id : 54062617339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘VENUE’ is written as ‘LBULC’. What is the code for ‘“TEMPO’ in that code language?
Options :

1. ¥ VWTLA

2. % VWTAL



3. ¥ VTWLA
4. % VTWAL

Question Number : 26 Question Id : 54062617339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY B W &, *VENUE’ &1 ‘LBULC’ foRal SITdT 81 39 IS UINT & ‘TEMPO’ &1 HIg T 82
Options :

1. ¥ VWTLA

2. ¥ VWTAL

3. % VTWLA

4. % VTWAL

Question Number : 27 Question Id : 54062617340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of four men is to be selected from amongst seven men A, B, C, D, E, F and G. A and B have to be selected together. D and F have to be
selected together. C cannot be selected with E. F cannot be selected with G. Which of the following team of four men is possible?

Options :

1. % A,B,Cand E
2. % A,B,Cand D
3. A,B,Dand F
4. % A,B,Dand G

Question Number : 27 Question Id : 54062617340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A YEY A, B,C,D,E,FANTGH A IR TEY B U S A o1 5| ATUTB BT A B FATSIAI G| D IUTF HI WY H & FAT ST 8|
C®HIE & 1Y T8 I SN Wbl g | F B G P 1 -Tg| AT ol Gl ¢ | IR TN $I Hgferiad § ¥ oH I 5 IHa g2

Options :

1. % A, B,CTUTE

2. % A,B,CTAUTD



3.¥ A, B,DAYIF
4. % A B,DAYUTG

Question Number : 28 Question Id : 54062617341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven girls L, M, N, P, Q, R and S are sitting around a circular table facing towards the centre (not necessarily in the same order). M is second to
the right of N. N is third to the right of P. R is third to the right of S. L is third to the left of Q. S is not the immediate neighbour of M.

Which of the following statement(s) is/are correct?
L. Q is to the immediate left of N.
II. P is third to the left of N.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 28 Question Id : 54062617341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ASfHATL, M, N, P, Q, R TUTS H% BI 3R T B Teh JIBR ANl P 36111 931 §3 & (SR 8l I 3T A BN | M, N &b gt
%?%?W% N,PH S IR TR ™MW BIR, S P SR IR AR VF R BI L, Q b Il IR AR ™MW BI S, M T Abean
. |

fafafed § 4 oF 98 HYF I8 8782
L. Q, N & q¥d gt 3R g

I P, N & §Rff 3R R ™A R B
Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl

4. % qGIIATRII




Question Number : 29 Question Id : 54062617342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A3B means B is wife of A. A5B means B is sister of A. A7B means B is mother of A. A9B means B is father of A. In A9B3C5D, what is the
relation of D with A?

Options :

1. ¥ Aunt

2. # Mother
3. #* Daughter

4. % Niece

Question Number : 29 Question Id : 54062617342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABHT Y B, ADI U 51 ASBHT 3T B, ADI IG5 1 A7B BT Y B, AT AT 51 AIB BT 3 B, A BT fUAT S AIB3CSDH, DHTA Y
7 =T 87

Options :

1. ¢ Ot

2. % HIdl

3. % ot

4. % Yol

Question Number : 30 Question Id : 54062617343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some P are K.
II. NoSisP.



Conclusions:
I.NoPisS.
II. All S are K.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 30 Question Id : 54062617343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fau T Uy H 8 U 3R IF 918 31 HUHI IR AUNRG & (56Y 3T T4 § | 3T T H2= & 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o ofk fisR fReiia & i fou o o1 @ fsed, fou 71U sy & sMyR &R gfaawia g

DHY: %
L PSP K gl
LS s, P 21

APy

L P e s T8 gl
.9 s, K B
Options :

1. ¢ acl Feepy [ 3TERU BT 2
2. % Had (BN 11 SR Hal §
3. % GHI FSHY 1 TT 11 SR Hvd &
4. % Pig W} FIoHY SR 8! R §

Question Number : 31 Question Id : 54062617344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:
I. AL areJ.
II.NoVisL.

Conclusions:

I. AllJ are L.
II. All V are J.
III. All L are V.

Options :

1. # Only conclusion I follows

2. ¥ Neither conclusion follows

3. ® Both conclusions II and III follows

4. % All conclusion follows

Question Number : 31 Question Id : 54062617344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (bt U T | 3T T HU=1 &I 981 AM, e 374 AE 1 a2t
Y oz 81t feeedf o oik fsR i & 6 fou o 1 O s, fou U wyi & SR &R gfaasa g

DHY:
LWL, 18l
L& H v, LTe 8l

fsep:

LIy, L gl

Lt v, 1§l

LI L, v gl

Options :

1. % PHad FHY 1 SFIER0T el §

2. ¢ Pig it ey SrTERor gt Hra1 §
3. % G B 11 T 111 SRR HRd §
4. % G Frp s SR R §




Question Number : 32 Question Id : 54062617345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

198 : 66 :: ?
Options :
1.9 144 : 48
2. % 146 : 46
3. % 148 : 44
4. % 142 :42

Question Number : 32 Question Id : 54062617345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fasedt & 4 defdq e &1 gt
198 : 66 :: ?

Options :

1.9 144 : 48

2. % 146 : 46

3. % 148 :44
4. % 142 :42

Question Number : 33 Question Id : 54062617346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

9,9,13.5, 28, 67.5,202.5
Options :
1. * 202.5



2. % 135
3. % 675
4.4 28

Question Number : 33 Question Id : 54062617346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd far mar ], for e § v e 7Tad g | fou e faswent §f ¥ 39 ed ug & gHu|

9,9,13.5, 28, 67.5,202.5
Options :

1. % 202.5

2. % 135

3. % 67.5

4,9 28

Question Number : 34 Question Id : 54062617347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many brown are car and trouser both?

Trouser

"

Brown Car

Options :
1. % 12
2.¥10
3.% 14



4. % 6

Question Number : 34 Question Id : 54062617347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fpd W, HR a1 Uded aHl 82

Options :
1. % 12
2.9 10
3.% 14
4. % 6

Question Number : 35 Question Id : 54062617348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?



O{ld 4 | — Bottle

819 4 2
/ |6 |
Even

I. Number 3 represents those bottles which are odd and even both.
II. Number of odd bottles are 7.

Options :

1. % Only1

2.+ Only II

3. ® BothIandII
4. % Neither I nor II

Question Number : 35 Question Id : 54062617348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T 37 3T & YR R, FafalRed & § & 98 Hy= 981 87582

e 4..--'&]?]?{

/ |6 1

qJH

1. T=AT 3 3 Sl I ST @, Sl favH qur g9 gl g
11. foww Siaa &1 J=m 7 8|




Options :

1. % FHadl

2. ¥ Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 36 Question Id : 54062617349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is to the west of K. J is to the south of B. B is to the south of K. L is to the east of A and west of K. In which direction is J from L?
Options :

1. # North-west

2. ¥ South-east

3. % South-west

4. ¥ North-east

Question Number : 36 Question Id : 54062617349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AKPUIAARI I, BH SR ARIB,K P AU HRI L AP Y HRINK S ulFH Al 7, LI fra femm A &2
Options :

1. % ITR-UEH

2. ¢ Glguryd

3. % Sf&u-ufym

4. % IR

Question Number : 37 Question Id : 54062617350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Saroj walks 24 km towards north. She turns right and walks 20 km. She turns left and walks 30 km. She rotates by 90 degrees in clockwise

direction and walks 15 km. she turns right and walks 30 km. She finally rotates by 90 degrees in clockwise direction and walks 25 km. How far
and in which direction is her starting point from the finishing point?



Options :

1. ¥ 26 km, South-west
2. % 49 km, North-east
3. # 26 km, North-east
4. # 49 km, South-west

Question Number : 37 Question Id : 54062617350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIST 3R 1 3R 24 {5 1. Tl g1 98 IrA SR gt & 9T 20 {1, Iardl g1 98 a1t SiR gt & 94T 30 {1, gadi g1 98 90 feht 4
Gfaromad fo=m o grd § au 15 fos 1. el 81 98 il 8k TS § v 30 fos. 1. Tt 81 98 8fda: 9o f&Ut ¥ < fammad fo=n & 9o §
T 25 fo . I 31 ITH! URfe foig sifaw foig ¥ framt gt iR aut fra fie=m & g2

Options :

1. ¢ 26 km, GI&UI-TTEH
2. % 49 km, 3TR-Jd

3. % 26 km, STR-Jd

4. % 49 km, Gl&O1-Ufgy

Question Number : 38 Question Id : 54062617351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

|

-3

1
Il




—_—— Il r I]

Question Number : 38 Question Id : 54062617351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI U SHIA 1 7T SMperdl & THH &2

~ [EiE-
oo/ [z

Options :

1. ¢




Question Number : 39 Question Id : 54062617352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

pa[ES[:

Options :

TA F-Y

oono

Oov v




A [ AT

v [ vo
4.9

Question Number : 39 Question Id : 54062617352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Uy il & fET 3R ST &I HISHR Sa- adl JIa & d1G a8 (6 IR AP ol [GETs G

R

Options :
A AT
oono
ov Vi
1. #

na [ Ao
O O
nw [ vo

2. #

v [O av
O 0O
v O va

3. %

A [ AT

O 0O

nv [ vo




Question Number : 40 Question Id : 54062617353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

o0

=

Options :

.
OO
"

®
2
DHO

2.
X
3
N
3. W OR
O
ﬁl
O
4. %

Question Number : 40 Question Id : 54062617353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g T U DI AB T IR W MY, <1 &1 715 ST SHIadl # B AT MTpid U Hfa &1 gt ufafda grme

Options :

o0

1. #
Q
Sy
O
2. %
3
N
N
3. ¢ ORN
OV
® EI
Q
4. %
Arithmetic Ability
Group Number : 3
Group Id : 540626641

Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Ability

Section Id : 540626823
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626993
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062617354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 7.7 + 7 + 777 + 7.77?
Options :

1. % 811.37

2. % 899.27

3. # 701.67

4. % 799.47

Question Number : 41 Question Id : 54062617354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
7.7+ 7+777+7.77 BT AHE T 62
Options :

1. % 811.37

2. % 899.27

3. % 701.67

4.+ 799.47

Question Number : 42 Question Id : 54062617355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i
—of —+—
What is the valueof 66 62
2. 2
6 6 4]
Options :
1
1 % 3
2. % 3
1
3. 9
4, % 9

Question Number : 42 Question Id : 54062617355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Question Number : 43 Question Id : 54062617356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the sum of first five prime numbers and sum of next five prime numbers?
Options :

1. % 71

2. % 72

3.9 73

4. % 74

Question Number : 43 Question Id : 54062617356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGl Urd STUTST ST o AT 4T STl Gld 31U SBT3l o IR &7 T 3R 62
Options :

1. ® 71

2. % 72




3.¢ 73
4. % 74

Question Number : 44 Question Id : 54062617357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If product of two prime numbers A and B (A < B) is 221, then what is the value of (4A —3B)?
Options :

1. % —1

2.9 ]

3.% 2

4, % 2

Question Number : 44 Question Id : 54062617357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS G 3THTST TBAT3M A TUTB (A < B) BT OFHA 221 8, Al (4A — 3B) BT M 1 82
Options :

1. % -1

2.9 1

3.% 2

4, % 2

Question Number : 45 Question Id : 54062617358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student reads o of a book on a day and 2 of the rest on the second day. The number of pages still unread are 60.
9 10

How many pages does the book contain?

Options :
1. # 1020



2. ¥ 1080
3. % 920
4. % 940

Question Number : 45 Question Id : 54062617358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wﬁm&ﬁwﬁﬂwmﬁﬂ%m%mﬁqﬂ%@?ﬁ?mﬁl
A ff T 9T T =T FT TEW 60 ¢ fFaw H Faw oo 2

Options :
1. % 1020
2. % 1080
3. % 920
4. % 940

Question Number : 46 Question Id : 54062617359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of a and b is 42. Average of b and ¢ is 56. Average ¢ and a is 48. What is the average of a, b and c?
Options :

1. ¥ 48.66

2. % 50.33

3. % 46.66

4, % 4733

Question Number : 46 Question Id : 54062617359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a TUTb BT NAT 42 T 1 b IUT ¢ DT 3N 56 T | ¢ qUT a BT 3N 48 Tl a, b dUT ¢ DT 3N T 52

Options :



1. ¥ 48.66
2. % 50.33
3. # 46.66
4. % 47.33

Question Number : 47 Question Id : 54062617360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A percent of 434 = 62, then what is the value of A?
Options :

1. #* 16.66

2. % 125

3.% 15

4.+ 1428

Question Number : 47 Question Id : 54062617360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 434 BT A TR = 62 5, T A BT HH R 52
Options :

1. * 16.66

2. % 125

3. % 15

4.9 14.28

Question Number : 48 Question Id : 54062617361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A’s salary is 50 percent of B’s salary. If A’s salary is increased by 60 percent and B’s salary is decreased by 20 percent, then A’s salary will be
how much percentage of B’s salary?

Options :
1. * 50 percent



2. ¥ 100 percent
3. % 200 percent
4. % 150 percent

Question Number : 48 Question Id : 54062617361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BT Id B P Ia- &1 50 U= 81 TS A BT I 60 UTATd T ST STl @ IUT B BT da 20 Ufa=Id A HH fHa1 Sirar g, ol A 1 da- B
& A BT fobam ufer=ra grme

Options :

1. % 50 gfc=rd
2. ¢ 100 Ufa=rd
3. % 200 Ufderd
4. % 150 gfa=rd

Question Number : 49 Question Id : 54062617362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of 10 articles is equal to the selling price of 12 articles. What is the profit/loss percentage? (Cost price of all articles is same and selling
price of all articles is same)

Options :

1. # Loss 20 percent

2. % Loss 16.66 percent
3. # Profit 20 percent

4. % Profit 16.66 percent

Question Number : 49 Question Id : 54062617362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 qtgeﬁg)obq 0 12 33t & faha Yoo & 9o g | arH/eT ufawra oar g2 (It axgasil o1 g Jeg uH § 9yt 9+t awgaeii &1 fawg
Hed JHIAH

Options :




1. % g1 20 wfawrd
2. ¢ B 16.66 Ufd2rd
3. % @Y 20 Ufa=rd
4. % Y 16.66 UfI=Id

Question Number : 50 Question Id : 54062617363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b=1:2andb:c=2:1, then what is the value ofa: b : c?

Options :

l.%¥2:1:1
2.9 1:2:1
3.%2:4:1
4. % 1:1:2

Question Number : 50 Question Id : 54062617363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qﬁa:b=l:2?‘f“’-ﬂb:c=2: lé,ﬁa:b:cWWW%‘?

Options :

1.#¥2:1:1
2. 1:2:1
3.%2:4:1
4. % 1:1:2

Question Number : 51 Question Id : 54062617364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of three numbers is 2 : 3 : 6 and the sum of their square is 441. What is the value of the largest of the three numbers?
Options :

1. % 54



2. %27
3.9 18
4. = 21

Question Number : 51 Question Id : 54062617364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T eSfl BT U 2 2 3 ¢ 6 8 AT 3 NI b1 AT 441 g | <1 Tmshi H ¥ qad 981 &1 A 1 82
Options :

1. % 54

2. %27

3.4 18

4. % 21

Question Number : 52 Question Id : 54062617365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is that rate of simple interest at which a sum of money becomes three times of itself in 48 years?
Options :

1. # 5.28 percent

2. ¥ 4.17 percent

3. % 4.38 percent

4. % 5.68 percent

Question Number : 52 Question Id : 54062617365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST &1 98 & T ¢ Ford R Pl MR 48 8 H W8 1 Tt g1 ofreft 82
Options :

1. % 528 gfd=rd

2. ¥ 4.17 UfcRId



3. % 438 Ofaerd
4. % 568 Ufaerd

Question Number : 53 Question Id : 54062617366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man starts from a place A and reaches the place B in 16 hours. He travels 1/2 distance at the speed of 6 km/hr and the remaining distance at the
speed of 18 km/hr. What is the distance between A and B?

Options :

1. ¥ 144 km
2. % 169 km
3. % 100 km
4. % 196 km

Question Number : 53 Question Id : 54062617366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fd Ueh VI A § 3RH FHdT & 9UT RIF B W 16 5 H UG ST g1 I8 1/2 G Y 6 fob 1t /eieT ot 71fd § 99 vl § a1 A9 g 18
fo. il AT & Tfd Y TT FRAT | A TUTB & &1 DI gl T 87

Options :

1. ¢ 144 fop 1.
2. % 169 fop 1.
3. % 100 fp .
4. % 196 fop 1.

Question Number : 54 Question Id : 54062617367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. A starts from point P at 8:00 am with speed of 45 km/hr. B starts from point P at 10:00 am at 60 km/hr towards A. B will catch A at 4:00 pm.
II. If A increases his speed by 25 percent, then he covers the same distance in 20 percent less time.

Options :



1. % Only I

2. % Only II

3.4 BothIand II
4. #® Neither I nor II

Question Number : 54 Question Id : 54062617367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 By 981 82

. A, 45 & 1t /gieT o 1fd 1 fig P T 8:00 AT TR Ia1 = BT 5| B, 60 .11 /8er &t 71fd 1 ffg P T 10:00 TaTg TR A B 3R I
S BRAT 2| B, A B 4:00 ARG TR UHS AN
I A A o= TR BT 25 URIRa © SgTal 8, @) 98 FHH g8 1 20 URIRId &1 9Ha & a9 ST 8|

Options :

1. % FHadl
2. % Had Il
3. ¢ 13U
4. % qGIIATRIII

Question Number : 55 Question Id : 54062617368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P is 20 percent more efficient than Q. P alone can do a work in 2 days less than Q alone. In how many days can they do the work together?
Options :

40

% 9

54



3.9 11

Question Number : 55 Question Id : 54062617368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%%ﬁ%;ommwél P 3B Uh BT BT Q b 3fhdl R Y 2 feT HH H & hd1 g1 3 U 1 B9 Bl foodd e 7
?
Options :
g

. & 9

Question Number : 56 Question Id : 54062617369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Area of a thombus is 108 cm?. If the sum of the length of its diagonals is 30 cm, then what will be the difference between the length of its



diagonal?
Options :
1. ®* 8 cm
2.% 6cm
3. % 4cm

4. % 12 cm

Question Number : 56 Question Id : 54062617369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T oA H7 &0 d 108 A1 2 71 afe 59 [Aepurt ot avars o1 AT 30 A.1f). B, O 59 30l ) avaTs & ot T SR o1 g2
Options :

1. % g A,

2.¢ 69l

3. % 49

4. % 1294

Question Number : 57 Question Id : 54062617370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of the base of a cylinder is 346.5 cm. If total surface area of the cylinder is 2013 cm?, then what will be the length of the cylinder?
Options :

1. % 10 cm

2.% 20 cm

3. % 25cm

4. % 30 cm

Question Number : 57 Question Id : 54062617370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S0 & SMYR BT &AHA 346.5 9.1, 81 IfE 0 &1 Hd U1 &6 2013 T2 €, A 9T B SHa1s o1 gHiT?




Options :

1. % 1099
2. ¢ 209
3. % 25 A
4. % 30 Q.4

Question Number : 58 Question Id : 54062617371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent by a housewife on six different articles. The total amount spent on all these six articles is Rs.
224000. Amount spent on particular article is shown as a percent of total amount spent on all these six articles.

32%

Which of the following statement(s) is/are correct?

I. The value of central angle formed by sector D and E together is 136.8 degree.

II. The value of central angle formed by sector C and E together is 108.8 degree.
II1. The value of central angle formed by sector A and B together is 210 degree.

Options :

1. ¥ Only I
2. % Only II
3. % Il and III
4. % JandIII



Question Number : 58 Question Id : 54062617371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foar mar urg aré v ol gRT B8 SenT-Sa axgsil R W Bt 718 AFY Bl ST 5 | 37 G 8 avgell W W &1 T8 Hd ARy
224000 TTY g | T AR avq IR W &1 78 IR DI 37 Gt 38 axgsft R T & 72 ot A & ufawd & = § feamar mar g |

32%

fafafed & 9 o5 9/ HuT I8 8782

1. D IYT E @UST &R e S-1a1 a1 i ivr b1 A 136.8 Tt B
1. C TYUT E TUS! gRT ATehy ST 71 g o 1 714 108.8 S 81
111, A TUT B W@US| gRT {HQATHR ST TRT H g HIor b1 | 210 fSlt B
Options :

1. Had I

2. % Had Il
3. % [ dUTIII
4. % 1Y

Question Number : 59 Question Id : 54062617372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the production of cars (in thousands) by two different companies P and Q over the years.



30
25 25

1991 1992 1993 1994 1995 1996
OP EQ

Which of the following statement(s) is/are correct?

L. Production of cars of company P increases by 57.14 percent from 1991 to 1993.

II. Ratio of production of cars by company P in 1994 to the production of cars by company Q in 1996 is 14 : 9.
II1. Average production of cars by company P from 1991 to 1996 is 61677.

Options :

1. % 1, II and 111
2. % Only I

3. % Only II

4. % Tand I

Question Number : 59 Question Id : 54062617372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! fear a1 qUs fod &1 SIERT-3IeT HUfal P aUT Q §RI TN | BRI &1 3die (89IR H) fGwrdar g




30
25 25

1991 1992 1993 1994 1995 1996
OP mQ

e & 9 &9 918 sy I8 28

1. 1991 ¥ 1993 TP HU P I BRI BT Il 57.14 UFA=Id S|

I1. 1994 H HU P GRT BRI & IATGH BT 1996 B HUAT Q §RT BRI & IadTe- J UM 14 : 9 B
111. 1991 ¥ 1996 dF HUA P gRT BRI BT 3N I 61677 B

Options :

1. % 1, I dYUTIII
2. % Had |

3. % Bad I

4. ¥ 1dUTI

Question Number : 60 Question Id : 54062617373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the sales turnover of 6 companies P, Q, R, S, T and U for the month of June and July.
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Which of the following statement(s) is/are correct?

I. Company R has the maximum percentage difference in sales turnover between two months.
II. Company T has the maximum percentage difference in sales turnover between two months.
1. Company S has the minimum percentage difference in sales turnover between two months.

Options :

1. # Il and III
2. ¥ Only I

3. % Only II

4. % 1,11 and III

Question Number : 60 Question Id : 54062617373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fr fea T <Us R S TR oS & HEH & foIT 6 Hufai b, Q, R, S, T IUT U & f9shl PRIER &l e=ifar 3|
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Pffed & d & 91/ HUT I8t 2782

1. ST R P ) PRITR H 1 HeH & a1 if¥pad ufawrd 3R g |
IL. ST T & feh! FRIIR A 3 AgH & o9 3ifisan ufawrd sidR ]
111, HTT S F foh! FRIGR & & TEHI & aiid Fad Ufa=id R gl

Options :

1. % I1dUT I
2.¢ Had |
3. % Had Il

4. % [ 11 dYUTIII
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Group Marks : 20

Is this Group for Examiner? : No
General Hindi

Section Id : 540626824

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 540626994

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062617374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad & 9 oIF-91 2es faese 82
Options :

1. % oflcdl

2. % dig

3. ® dh-ddh

4. ¥

Question Number : 61 Question Id : 54062617374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeed I Q $1H9-91 Weg AT 22

Options :



1. % Qe
2. % dic
3. % §h-9b

4.

Question Number : 62 Question Id : 54062617375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 71T e &1 IHIN J1d HifT|

SRS
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. fgm g

2. 9gdife TN

3. "ol gHIY

4. TGSY JAN

Question Number : 62 Question Id : 54062617375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 71U e T UM 1 HIFSY|

THRSD

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1.%11141%




2. 9gdiig 99

3. 91 QH™
4. TGS TH

Question Number : 63 Question Id : 54062617376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TN wsg 3t IfY fase J@ B
fARIER

Options :

1. % 9 +8R
2. ¢ 1 + 3BR
3.8 A+

4. % 9 + 3MBR

Question Number : 63 Question Id : 54062617376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u U Yisg &) G fa=dg Sd i)
fRIER

Options :

1. % 4l + R
2. ¢ [ + 3BR
3.8 R

4. % I + 3R

Question Number : 64 Question Id : 54062617377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U Tre &1 faaH e JTd BT



EEIN

Options :
1. % defdlq
2. % fEa
3. ¢ Fdg
4. % fAgiy

Question Number : 64 Question Id : 54062617377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TN Wsg T I Wee I BT

Options :

1. % SadH
2. % fA9q
3. ¢ 3T
4. % fAefy

Question Number : 65 Question Id : 54062617378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77T Wrec; &1 faeliA Wsg F1d BT
SR

Options :
1. % oo
2./ gN
3. % g
4. % T[&hH



Question Number : 65 Question Id : 54062617378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T4 Wrec; &1 faeliA Wsg T BITT
STRIT

Options :
1. # favaq
2./ gN
3. % Yy
4. % Q[Ch

Question Number : 66 Question Id : 54062617379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifad sg &1 yafgar 761 @, 31d S|
3ffhaq

Options :
1. % aRg
2. % TRig
3. % MM

4.« fUF

Question Number : 66 Question Id : 54062617379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifed Ise &1 yafgard 98 8, 31d S|
3ffdrae

Options :

1. % gRa



2. % TR
3. % dFBH

4. T8

Question Number : 67 Question Id : 54062617380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 7Y <rec] H Y[ I BT 99 S|
Options :

1. % SafG

2. ¢ Hifciat

3. % P

4. % Pifcife

Question Number : 67 Question Id : 54062617380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau T4 Trec) P g 1 T FifvTE
Options :

1. % PlaifG

2. ¢ PIfeid]

3. % Sraiial

4. % Pifcife

Question Number : 68 Question Id : 54062617381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 919 ) gfy 1 I
< ST Ual A 8 ART BN

Options :



1. ¢ degrd® gha
2. % Jhard® gia
3. % Ffgrrde g
4. % qIEdI gdb i

Question Number : 68 Question Id : 54062617381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few e g @1 g J1d P
3 3P Udll 3 € ART BN

Options :

1. ¢ Fagrdd gia

2. % Joharde gha

3. % [fEn® gh
4. % 9184l gab g

Question Number : 69 Question Id : 54062617382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fem a1 aTe fh Y Iy &1 ISTeR 8, F1d Bl |
Hig- 9gd AT Wl o |

Options :

1. % Yy

2. % 3UH

3. % HYH

4. ¢ Y=Y

Question Number : 69 Question Id : 54062617382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fem a1 aTe fh Y W &1 ISTeRT 8, F1d Bl |
Hig- 9gd T Wl 5 |

Options :

1. % Yy

2. % 3TH

3. % HYH

4. ¢ A YEY

Question Number : 70 Question Id : 54062617383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil B 9 g aTed &1 o+ Diforg|
Options :

1. % T v g T Frder gma =181 81 ariel|

2. T 3MRIHT ¢ fob Fedef g1a 781 81 urdial |

3. % IRT 4 g o free gema =161 €1 amdan

4. % B 3T U © fob gTa Freger €Y 81 gohd |

Question Number : 70 Question Id : 54062617383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad are o ¥ Y[ 916 &1 994 Hifod |
Options :

1. % 99 4§ [ Fwer g-ma =181 g1 uri

2. ¢ T ATRAPT § o Feaes gama =&t g1 urdi|

3. % TRTYg § T fwer gma =72t g1 ard|

4. % TR} 3MRIHT I8 ¢ fob g1 Foder 781 81 b |

Question Number : 71 Question Id : 54062617384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
faferRad areil & 9 Tgad are J1d BT
Options :

1. ¢ dgdh! 4 IR P 2, SN UH Sl TS |
2. % IR B I ASH! Uh Sl 5 |

3. % S8l IRl &1 7S, 98] dSh! Uhal TS|
4. % TSDHI Ubal T8 Hifes I AR &bt |

Question Number : 71 Question Id : 54062617384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad areRil & ¥ Tgod a1 J1d B
Options :

1. ¢ deat 7 IR ot ot 39fe us Sl T |
2. % I HA Il AS P Uh el T3 |

3. % g1 AR 1 778, 981 g bl U gl g |

4. % ISHI Udbe! T8 Hife 394 IR ot At

Question Number : 72 Question Id : 54062617385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favm fag &1 994 Fifo |
Tg1 AR} g & AT &1 311 T

Options :
1. % .
2.9
3. % |

4. % |

Question Number : 72 Question Id : 54062617385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o+ pifor |
et IR gfar & T EY 31 e

Options :
1. % :

2.9
3. %!

4. % |

Question Number : 73 Question Id : 54062617386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9Ty & Iuged form fag &1 o= pifor|
a9 X 37t off af ghft

Options :
1. %!
2.% 79

3. 0w

4, % .-

Question Number : 73 Question Id : 54062617386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9Ty & Iuged form fag &1 o pifor|
a9 X 37t off af grft

Options :
1. ¥
2.% 79




e
|

Question Number : 74 Question Id : 54062617387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl § 9, 39 fawed &1 999 o S faU 0 GgTak & 31l &1 a98 T ¥ ad Rl 5|

TSI BT

Options :

1. # & o ¥ gfad urn
2. % g g

3. % OR-AR AT

4. ¢ TG & U] HI&l

Question Number : 74 Question Id : 54062617387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o1 7o 3 o fT 7T JeTer & 31 &1 a9y U ¥ oJad Hral g |

TSI BT

Options :

1. % o3 ol ¥ gfed urn
2. % GG Bl

3. % OR-AR AT

4. ¥ TG & U Hi&d

Question Number : 75 Question Id : 54062617388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 0 aR fawedl 5 9, 39 fawed &1 999 & S fau 70 GgTak & 3 &1 a9§ T ¥ oad Rl 5|




sfa-oft BT
Options :

1. % =5 o[-l
2. % AT gl
3. % HHIT hRAl
4. % dgd Hdl

Question Number : 75 Question Id : 54062617388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed & 9, 39 fadwed &1 9o 3 o1 fT 70 JRTer & 31 &1 Jd98 U I oJad HRal o |
Sfd-oft S

Options :

1. % J=d oIl

2. % WISId BT

3. % AT HRAl

4. % dgd qdl

Sub-Section Number : 2

Sub-Section Id : 540626995
Question Shuffling Allowed : Yes

Question Id : 54062617389 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

TS TSI T 71 § | TRIRT B eAYd e Ug Ut U=l & Jal [ddhed g |

A R IR IHT-900 IR 3 Aal 374aT YGRIA! &1 SIS IRGR AT 3] TR TR GRT BT AT § | S B Ao J
ey Tt e # FdeR A8 H Sifoid IR Jd 3fdd Agayul 81T off 81 ¢ | I8 X1 o el sifug facsn & +f wfifs urver 8 oo
HRUT -G & HI-BH Y AN 39 SIS H AR 8ld 81 [aY BT v Gt T Hulai 317 IdTE B S0k H IR & o
T AR BT gR aY Tclte FHreht o | Al B fafid- fafie o= & el veRit &t wifal 9 -l &1 el oaq & fiad! ¢ | Sifedl &
SHfAREd T, Th-tch d TaR & & T S/ D1 WA & T To &l ATHYD &7 I ST S1d & | T8 Al THGRT G ARSI &7 WolTT 7T




Il 51 31 Bl § ITG 1 15 (ATl quT dob-ilan! ol UaiRid foban S &, forad SuHiad, samart aut suf=ar gt emuif=ad gid 8|
SFRTPT STaR T B e b o) R & g8 iy SHTaR ST 5t T Seraeh ot T fRrerl § | W1el- e 3 SRR P A
JEThR < o fARISy T TR HRel B! RUf 7 Sf1hert ot 3 Febdl &1 S SIRIFIT SHTUR A B ScqHTeh AT GRT GRS I
lﬁ&lqlw%;?mw%l%a 3TRSTP BT WA GRT SHKABRI, RICABRI &l HIfdhe HadT BRI %W%aﬁméﬁﬁ-ﬁrwﬁﬁ
TifoTd fovar ST B

Sub questions

Question Number : 76 Question Id : 54062617390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS ATUR Wl Dl ST fobar el &2
Options :

. % JEER

2. ¢ iR

3. % fegmR

4. % 30qd

Question Number : 77 Question Id : 54062617391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ATUR Tl BT IS foberch gRT b Sl g2
Options :

1. % o4dIl

2. % HUl

3. ¥ PR

4. % faQog

Question Number : 78 Question Id : 54062617392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=9 Od &1 g IS AT SI1dT 82
Options :




1. ¢ SHBRI G HARGH

2. % R¥reueRi 9 wWIfd

3. % JUHIGA d ATURT

4. % HAl- Ypid g Hifdhe el

Question Number : 79 Question Id : 54062617393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS HATAT! gIRT fpaepT 3o +ff fvar Sirar 82
Options :

1. % garfaeiie

2. ¥ §REIC

3. % TR BT 3ha

4. % Al

Question Number : 80 Question Id : 54062617394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U T TRIT=1 T U NS &1 R
Options :

1. % DHA-IDId

2. * USRI B gIfd

3. % I AgM

4. ¥ HRd-3fRITIY SR Al

Question Id : 54062617389 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

TS TSI T 71 § | TRIRT B eAYdd Ug Ut U=l & Jal [aded g |

A R IR IHT-900 IR 3 Aal 374al YSRIA! &1 SIS IRGR YAl 37 TR TR gRT fHa1 ST 8 | S B Aol o
iy wifd e § TdeR A8 & STAfold TR Aal 3fdid Hg@qul g1l ol X818 | T8 SR H g Ta! Sifug fac=n o off ufifs o1 a1 § foraes




HRUT G-I B PIH-DIH & N IS H Jd Bid | {94 BT v Gt U@ Hui-ai 30+ Id1G Bl IR H IR o g
3 3R B g I8 Ycile Bat & | i H fafe- fafir =i & adt ud=il of wifa @ an-TRepfa o) Siifeal o o frerdt 8 1 Siifoal &
Sifafa 1, A1 d TR & & H &R B! W & A7 93 51 SATh¥eb 71 U GRIMT S § | g Hell SHPbRI d HARGH BT FeT1 JHT
ST 81 34 Al & IdTe Bt s (Al auT daob-te! & uelRid faar Srar g, for Suied, Rt aur safar awt arifad gid g |
RIS AR A & fae=h dufal o1 RRed ¥ g8 3y TR Svd 1 T4 gaaal &1 e RI e o | F1Y-H1Y 39 SawR B ey
JBTPY ¥ o faRINF Td AR} YR 1 R BT sfreber i B Tohdl g | T SIRIPIY AR A H 3feudes HAed gRI gR 81 Bl
lﬁ&lq\lw%?m uﬂ%l%a’ 3{RSH BT WA GRT GABR], RICIBR] B! HIfdhe Hadl HRIH & W= & dgd o o [ YT &
JNfoTd fovd ST 8l

Sub questions

Question Number : 76 Question Id : 54062617390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS IR Wl Dl ST fobam el &2
Options :

. % TR

2. % Adi}

3. % faqrR

4. % 30

Question Number : 77 Question Id : 54062617391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ATUR Wl 1 TS foberch gRT b Sl g2
Options :

1. % S-dl

2. % HUAg

3. % IDR

4. % TRy

Question Number : 78 Question Id : 54062617392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 A &I fhgeT WoHT 31 STdT 872
Options :

1. ¢ SFBHRI g AARGH

2. % USRI 9 Uil

3. % JUHIEAT d AR

4. % HAL- IPd 9 Afde Gaa

Question Number : 79 Question Id : 54062617393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TE>IS HATHA gIRT fordepT 3o +ff fvam Siram g2
Options :

1. % garforite

2. ¥ §REIC

3. % TR BT 3ha

4, % Il

Question Number : 80 Question Id : 54062617394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T TRIT=T T UG NS &1 g
Options :

1. % DHA-IDId

2. % YRl &1 Ul

3. % I AgH

4. ¥ HRA-3fRITIY SHUR Hell

General English
Group Number : 5
Group Id : 540626643



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 540626825

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 540626996

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062617395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Onions are most water, (1)/ plus some vitamins (2)/ and sugar compounds. (3)/ No error (4)
Options :

1. ¥ Onions are most water,

2. % plus some vitamins

3. % and sugar compounds.

4. % No error



Question Number : 81 Question Id : 54062617395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Onions are most water, (1)/ plus some vitamins (2)/ and sugar compounds. (3)/ No error (4)
Options :

1. ¥ Onions are most water,

2. # plus some vitamins

3. % and sugar compounds.

4. % No error

Question Number : 82 Question Id : 54062617396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

With great power come greater (1)/ responsibility, the line used by (2)/ spiderman is very apt in today’s world. (3)/ No error (4)
Options :

1. ¥ With great power come greater

2. % responsibility, the line used by

3. # gpiderman is very apt in today’s world.

4. % No error

Question Number : 82 Question Id : 54062617396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

With great power come greater (1)/ responsibility, the line used by (2)/ spiderman is very apt in today’s world. (3)/ No error (4)
Options :

1. ¥ With great power come greater



2. # responsibility, the line used by
3. % gspiderman is very apt in today’s world.
4. % No error

Question Number : 83 Question Id : 54062617397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Both sides then agreed to shift the wedding venue to a place convenience to all.

Options :

1. ¥ convenient to
2. % convenient for
3. ® convenience for

4. % No Improvement

Question Number : 83 Question Id : 54062617397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Both sides then agreed to shift the wedding venue to a place convenience to all.
Options :

1. ¥ convenient to
2. * convenient for
3. # convenience for

4. ¥ No Improvement

Question Number : 84 Question Id : 54062617398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I am yet to seen that series yet.
Options :

1. # yet to view

2. % yet to watching

3. ¥ yet to see

4. % No Improvement

Question Number : 84 Question Id : 54062617398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I am yet to seen that series yet.
Options :

1. # yetto view

2. # yet to watching

3. % yet to see

4. ¥ No Improvement

Question Number : 85 Question Id : 54062617399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There is always an to a stated theory.
Options :

1. # enemity

2. % eulogy

3. % placid

4. ¥ exception



Question Number : 85 Question Id : 54062617399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There is always an to a stated theory.
Options :

1. * enemity

2. * eulogy

3. % placid

4. ¥ exception

Question Number : 86 Question Id : 54062617400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

behalf of her son, she took the award.
Options :
1. * In
2. % At
3. # With
4. ¥ On

Question Number : 86 Question Id : 54062617400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

behalf of her son, she took the award.
Options :

1. # In



2. % At
3. # With
4. % On

Question Number : 87 Question Id : 54062617401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Human rights are rights

P: consequence of inherent human vulnerability, or because
Q: that belong to an individual or group of

R: they are requisite to the possibility of a just society

S: individuals simply for being human, or as a

Options :

1. ¥ SPQR
2. % QRPS
3. % RPSQ
4. ¥ QSPR

Question Number : 87 Question Id : 54062617401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Human rights are rights

P: consequence of inherent human vulnerability, or because
Q: that belong to an individual or group of

R: they are requisite to the possibility of a just society

S: individuals simply for being human, or as a

Options :

1. # SPQR
2. % QRPS
3. % RPSQ



4. ¥ QSPR

Question Number : 88 Question Id : 54062617402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: tended to be used for cheesecake titillation or as
Q: counterparts, Wonder Woman stood apart

R: adjuncts to their more powerful and popular male
S: in an industry where super heroines

Options :

1. ¥ RQPS
2. % SPRQ
3. % SPQR
4. % SRQP

Question Number : 88 Question Id : 54062617402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: tended to be used for cheesecake titillation or as
Q: counterparts, Wonder Woman stood apart

R: adjuncts to their more powerful and popular male
S: in an industry where super heroines

Options :

1. ¥ RQPS
2. % SPRQ
3. % SPQR
4. % SRQP

Question Number : 89 Question Id : 54062617403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Affection
Options :
1. ¥ Adore
2. # Abhor
3. # Amend
4. # Astute

Question Number : 89 Question Id : 54062617403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Affection
Options :
1. ¥ Adore
2. % Abhor
3. % Amend
4. ¥ Astute

Question Number : 90 Question Id : 54062617404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Ancillary
Options :

1. # Exquisite
2. ¥ Requisite
3. ¥ Parasite
4. % Fanatic



Question Number : 90 Question Id : 54062617404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Ancillary
Options :

1. # Exquisite
2. ¥ Requisite
3. # Parasite

4. * Fanatic

Question Number : 91 Question Id : 54062617405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Shoppeng

2. % Soping

3. ¥ Shopping

4. % Shoping

Question Number : 91 Question Id : 54062617405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Shoppeng

2. % Soping

3. ¥ Shopping

4. % Shoping



Question Number : 92 Question Id : 54062617406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. ¥ Horradous

2. # Historical

3. % Opposition

4. ¥ Noticeable

Question Number : 92 Question Id : 54062617406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. ¥ Horradous

2. # Historical

3. # Opposition

4. ¥ Noticeable

Question Number : 93 Question Id : 54062617407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bread and cheese
Options :

1. # Rich and heavy food
2. % Livelihood

3. # To mock someone
4. ¥ Simple food



Question Number : 93 Question Id : 54062617407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Bread and cheese
Options :

1. # Rich and heavy food
2. # Livelihood

3. % To mock someone
4. ¥ Simple food

Question Number : 94 Question Id : 54062617408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Long in the tooth

Options :

1. * Very talkative

2. ¥ Rather old

3. #* To have sweet cravings

4. % Big hearted person

Question Number : 94 Question Id : 54062617408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Long in the tooth
Options :
1. % Very talkative



2. ¥ Rather old
3. % To have sweet cravings

4. # Big hearted person

Question Number : 95 Question Id : 54062617409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A government consisting of old people
Options :

1. ¥ Gerontocracy

2. # Neocracy

3. # Ochlocracy

4. % Oligarchy

Question Number : 95 Question Id : 54062617409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A government consisting of old people
Options :

1. % Gerontocracy

2. # Neocracy

3. # Ochlocracy

4. % Oligarchy

Sub-Section Number : 2
Sub-Section Id : 540626997
Question Shuffling Allowed : Yes

Question Id : 54062617410 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)
Read the following information carefully and answer the given questions.

Seen by the courts as cruelty on bulls, but celebrated in Tamil Nadu as a display of valour, the rural sport of Jallikattu is an inevitable part of the
Pongal season in the State. It is promoted as a tourist attraction by the government and its appeal as a symbol of Tamil culture remains the same
year after year. It is only the odd voice that sees it as a relic of a feudal past. However, one aspect that remains unchanged - through the years in
which the legality of the bull-taming sport was questioned, the event itself banned, and then restored by law- is that every season, it leaves a few
dead and scores wounded. Often, these wounds are a trauma doctor’s nightmare, given the grievous nature of the bull gore injuries.

It is an event that cries for maximum regulation. The regulations have been tightened from time to time, and no event takes place without official
permission or medical supervision. The playing arena is protected by double barricades, the entry point and ‘collection point’, where the bulls are
to be taken back by the owners after they leave the arena, are supposed to have sufficient protective features to minimize incidents that lead to
injuries and fatalities. Yet, some have died in the main events that took place in the last few days; they include bull owners, spectators and an
organizer. The victims were mostly gored or stomped upon. Over a hundred are being treated for injuries, some of which are quite serious,
marked by internal ruptures that may have a lasting effect on the victims.

Sub questions

Question Number : 96 Question Id : 54062617411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Jallikatu: Humdrum or fun

2. # Meritocracy

3. # Thalassocracy

4. % Theocracy

Question Number : 97 Question Id : 54062617412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be implied from the statement “It is only the odd voice that sees it as a relic of a feudal past™?
Options :

1. # Tt is strangely identified as an outdated sport.

2. % Only a few people consider it to be a sport of ancient social system.

3. % Ancient people considered it to be important festival.

4. % Ttis been played from the ancient time and now it has become outdated.



Question Number : 98 Question Id : 54062617413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct antonym of the word ‘assuage’ from the given passage?
Options :

1. # Rupture

2. # QGrievous

3. % Trauma

4. # Relic

Question Number : 99 Question Id : 54062617414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following doesn’t include the people who died during this sport?
Options :

1. # Spectators

2. # Organizers

3. % Bull owners

4. ¥ Participants

Question Number : 100 Question Id : 54062617415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why Jallikattu event cries for maximum regulation?

Options :

1. ¥ Due to the rising bull gore injuries and deaths.

2. # There are no provisions for maintaining bulls in the playing arena.
3. % Less protected playing arena and deaths.

4. # Increasing fatalities to the victims only.

Question Id : 54062617410 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)
Read the following information carefully and answer the given questions.

Seen by the courts as cruelty on bulls, but celebrated in Tamil Nadu as a display of valour, the rural sport of Jallikattu is an inevitable part of the
Pongal season in the State. It is promoted as a tourist attraction by the government and its appeal as a symbol of Tamil culture remains the same
year after year. It is only the odd voice that sees it as a relic of a feudal past. However, one aspect that remains unchanged - through the years in
which the legality of the bull-taming sport was questioned, the event itself banned, and then restored by law- is that every season, it leaves a few
dead and scores wounded. Often, these wounds are a trauma doctor’s nightmare, given the grievous nature of the bull gore injuries.

It is an event that cries for maximum regulation. The regulations have been tightened from time to time, and no event takes place without official
permission or medical supervision. The playing arena is protected by double barricades, the entry point and ‘collection point’, where the bulls are
to be taken back by the owners after they leave the arena, are supposed to have sufficient protective features to minimize incidents that lead to
injuries and fatalities. Yet, some have died in the main events that took place in the last few days; they include bull owners, spectators and an
organizer. The victims were mostly gored or stomped upon. Over a hundred are being treated for injuries, some of which are quite serious,
marked by internal ruptures that may have a lasting effect on the victims.

Sub questions

Question Number : 96 Question Id : 54062617411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # Jallikatu: Humdrum or fun

2. # Meritocracy

3. # Thalassocracy

4. % Theocracy

Question Number : 97 Question Id : 54062617412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be implied from the statement “It is only the odd voice that sees it as a relic of a feudal past™?
Options :

1. # Tt is strangely identified as an outdated sport.

2. % Only a few people consider it to be a sport of ancient social system.

3. % Ancient people considered it to be important festival.

4. % Ttis been played from the ancient time and now it has become outdated.



Question Number : 98 Question Id : 54062617413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct antonym of the word ‘assuage’ from the given passage?
Options :

1. # Rupture

2. # QGrievous

3. % Trauma

4. # Relic

Question Number : 99 Question Id : 54062617414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following doesn’t include the people who died during this sport?
Options :

1. # Spectators

2. # Organizers

3. % Bull owners

4. ¥ Participants

Question Number : 100 Question Id : 54062617415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why Jallikattu event cries for maximum regulation?

Options :

1. ¥ Due to the rising bull gore injuries and deaths.

2. # There are no provisions for maintaining bulls in the playing arena.
3. % Less protected playing arena and deaths.

4. # Increasing fatalities to the victims only.
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Question Number : 101 Question Id : 54062617416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct for the given partial differential equation?

ou oJdu Jdu
e 30 57 Do S sl

gt oOx ox’



Options :

1. ® It is linear equation of order two

2. # Tt is non-linear equation of order one
3. # It is linear equation of order one

4. ¥ It is non-linear equation of order two

Question Number : 101 Question Id : 54062617416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7w 31if srgma gHieRr & forw Fufeaa & @ o9 a1 Hy= I8 82

du oJu Jdu
i SR ke

ot Jx ox’

Options :

1. % U H Gl BT IRAD JHIHRU §

2. % UE HH TP DI 3RGb JHHI0 g
3. % g ¥ Ueh P Wb JHIBUI &

4. ¥ T8 HH 3l BT 3RS THIHI0T g

Question Number : 102 Question Id : 54062617417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A parametric curve is defined by X = CDS| %} ¥= Siﬂ| %} in the range of 0 <t < 1. It is rotated about the X-axis by 360°.
\ \

What is the area of the surface generated?
Options :
1. ¥ 4q
2. %
3.¥ 2n
II
4. % 2



Question Number : 102 Question Id : 54062617417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wmﬁﬁﬁ x=cos|i]%].y=sin|i%} AT 0 =t = 1 #Wﬁqﬁmﬁr—rmﬂmé‘l

T8 X-3787 W 360° AT AT 8| 3¢9 HAg & &T%a FAT 87

Options :
1. # 47
2. % 1
3.9 21
11
4. % 2

Question Number : 103 Question Id : 54062617418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. e s s : e

What is the value of ﬂ?) ( ) 7 dz . where c is a circle with centre at origin. |z| = 37
*[Zz+1

Options :

4 =

—Ilie™
% 3
2. % 2mie?

3 3

—Ilie™

3

3.¢



4, % 3qie2

Question Number : 103 Question Id : 54062617418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iz

95*-‘(211]4(12 T AT FIT &, 8T ¢ HT W g & T Tk Iod ¢, |z| = 3 &7

Options :

4 5
—Ilie™

4, % 3pje2

Question Number : 104 Question Id : 54062617419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following comes under the category of survey report in an organization?
Options :

1. ¥ Field reports

2. % Project reports

3. % Sales reports

4. % Company annual reports

Question Number : 104 Question Id : 54062617419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaRed o O & 91 Th WTe | wdemr Raid o 9o I sar g2
Options :

1. ¢ fipcs Ry

2. ® Yioige Raed

3. % I Ruicy

4. % U Uge@ Raicy

Question Number : 105 Question Id : 54062617420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1071 second =

Options :

1. # 1 picosecond

2. #% 1 Attosecond

3. % 1 femtosecond

4. % 1 nanosecond

Question Number : 105 Question Id : 54062617420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10°15qPpU8 = |

Options :

1. % | Uil SbUS

2. % | TSI UHUS

3. ¥ | Bl YHUs

4. % | 1 GHUS

Question Number : 106 Question Id : 54062617421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of ‘The ENIAC” the first all electronics computer?



Options :

1. #® The electronic numerical integrator automatic calculator
2. % The electronic numerical integrator automatic computer
3. ¥ The electronic numerical integrator and computer

4. ® The electronic numerical integrator and calculator

Question Number : 106 Question Id : 54062617421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U SaIae o HEIeR ‘G 3.04.3M15.U. . &1 SRifénd &9 &1 82
Options :

|. # g ZAdIM® JURSA TR ffeAfd Hagpae

2. % T Zaaeid JHR® SfeTReR eHfed e

3. ¢ G ZAaCIHd JTAR®T SfcTReR U8 HUELR

4. % & AT TARGE SRR U8 apaeR

Question Number : 107 Question Id : 54062617422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of (1715);( in base 12?

Options :

1. # (BAA)|,
2. % (ABA),
3. % (BCB)|,
4. ¥ (BAB)|,

Question Number : 107 Question Id : 54062617422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§F 12 T (1715), BT HAH T 82



Options :

1. ® (BAA)
2. % (ABA),
3. ¥ (BCB);,
4. ¥ (BAB)|»

Question Number : 108 Question Id : 54062617423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the aspect(s) of software evolution?

I. Software Architecture Aspect
II. Programming Language Aspect

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 108 Question Id : 54062617423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § &9 91/ Aided A &1/% Ugd 82

I. IR 3R Ugq
1. GIfET dal U8
Options :

1. % $had |

2. % Had 11

3. 1QUT I gl

4. % qGIIATE I




Question Number : 109 Question Id : 54062617424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the functions performed by operating system?

I. Process Management
II. Memory Management
II1. Security

Options :

1. ® Tand II

2. % Il and III
3. % land III

4. 1,11 and III

Question Number : 109 Question Id : 54062617424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 19 3 S sifrfe Red gR1 fhd &rd 62

1. Ufshar geie
I1. BAORY Ueey=
IT1. gR&f
Options :

.= Iddl
2. % I dYT I
3. % TdYT I

4. 1 I dYT 1T

Question Number : 110 Question Id : 54062617425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the length of an array when its first index is denoted by i and last index is denoted by j?
Options :



1. # length of an array =i+ j
2. # length of an array = j — i
3. % length of an array =j —i + 1
4. # length of an array =j—i—1

Question Number : 110 Question Id : 54062617425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T W B! GaTE 1 Od 5P Ul SS9 ! i U FIeTid Wi & 3R sifed s2a 1 j gR1 Fefid fovan St 82
Options :

1% T WP AL =i+

2. % TH WA Ao = - i

3.V TR B AR =j— i+ 1

4.8 THWRPIAIR =] i1

Question Number : 111 Question Id : 54062617426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the condition for binary search to be unsuccessful where Beg is the beginning and End is ending location of sorted array?
Options :

1. % End > Beg

2. % End == Beg

3. ¥ End < Beg

4. % End! = Beg

Question Number : 111 Question Id : 54062617426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T & 3RHd giF B URRUMT F7 § S8l Beg RS U HT X3 3R End 3 I 82
Options :

1. ¥ End > Beg




2. % End == Beg
3. % End < Beg
4. % End! = Beg

Question Number : 112 Question Id : 54062617427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement(s) is/are true about formation of identifier in C?

L. It consist of alphabets, digits and underscore.
II. An identifier can start with an underscore.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 112 Question Id : 54062617427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C A 3Sfehud & 67 & SR | ®IF I/ HYT I 8/82

L. 399 3feR, 3 3R SR A & |

1. U5 3SR 3iehR W T+ 8 g o
Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl

4. % I I

Question Number : 113 Question Id : 54062617428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In C++ a wide — character constant begins with the letter
Options :

1. % W

2.% C

3.1

4. % S

Question Number : 113 Question Id : 54062617428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ T U% dI3S — hidex hiee 3eR Y Y& gl g
Options :

1. % W

2. % C

3. L

4. % S

Question Number : 114 Question Id : 54062617429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in ascending order of their average case complexity.

Selection-sort, Quick-sort, Linear search, Binary search
Options :

1. # Quick-sort, Selection-sort, Binary search, Linear search
2. # Linear search, Binary search, Selection-sort, Quick-sort
3. % Binary search, Linear search, Quick-sort, Selection-sort

4. % Selection-sort, Quick-sort, Linear search, Binary search

Question Number : 114 Question Id : 54062617429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferiRad & 3! 3Nd $9 Hwifdact & 3RIg! HH H aafRUd B |
AARA-T1E, fbop-Tie, iR I, arg-R_ I

Options :

1. % fHe-gIe, JaRMA-TIc, IR 9, fafm I
2. ® fafaR g, 9™ 9o, YdawH-I1e, fds-aie
3. ¢ FI3R) O, faf R O, fde-9ie, Jaarm-aie
4. % JQRAE-YIC, fdm-are, faf R I, IR I

Question Number : 115 Question Id : 54062617430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the output of the code written in C?
void main()

{
printf("%d",7%-3);
printf("%d",-7%3);
b

Options :
1.v1-1

2. % 11

3.% 11

4. % 11

Question Number : 115 Question Id : 54062617430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C ¥ ford 1S &7 3AT3eYe R 32

void main()

{
printf("%d",7%-3);
printf("%d",-7%3);

b
Options :



1.¥ 1-1
2.% 1-1
3.% 11
4. % 11

Question Number : 116 Question Id : 54062617431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true about pre-processor in C/C++?

I. To replace each #include directive with the contents of the designated file.
II. To replace each escape sequence with designated character.
III. To process macro definitions and expand macro calls.

Options :

1. # Tand II

2. # Il and III
3. % Only I

4. % 1, 1I and III

Question Number : 116 Question Id : 54062617431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C/C++ A T-URR & IR § FafafRad 7§ 9 &9 913 sy 93 8/8?

I.W#includeﬁ%ﬂaﬁﬁ'ﬁg wsmﬁ&q&eg@f%wawﬁa?ﬁm
I1. Y% TXhY 3IehH &I FAfEy duddies & 91y sgaq & fou|
111, Aeh! ST &) U B 3R Ah! Hid BT AR HA & el

Options :

1. % 14Ul

2. % IIdYTIII
3. % Hhad |

4, 1, 11 dYTIII




Question Number : 117 Question Id : 54062617432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the equivalent infix expression of the following postfix expression?

M,N,O,+ *P,/,Q,R,S, T,/,+ *, —
Options :

I.#%# O*(M+N)P-Q*(R+S/T)
2.% M*(N+0O)/Q-P*(R/S+T)
3. N*(M+0)Q-P*(S+R/T)
4. ¥ ((M*(N+0))/P)~(Q*(RH(S/T))))

Question Number : 117 Question Id : 54062617432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed UReftha ST &1 T §ftha oidh ol /2

M,N,O,+ *P,/,Q,R,S, T, /, +, *,—
Options :

I.% O*(M+N)/P-Q* (R +S/T)
2.% M*(N+0O)/Q-P*(R/S+T)
3. N*(M+0)/Q-P*(S+R/T)
4. ¥ (M*(N+0))/P)~HQ*(RH(S/T))))

Question Number : 118 Question Id : 54062617433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While inserting the elements 71, 56, 48, 96, 76, 82, 98 in an empty binary search tree in the sequence shown, which element will come in the
lowest level?

Options :
1. % 96
2. % 98
3.% 71



4. % 82

Question Number : 118 Question Id : 54062617433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fERaTE 71U o5 T U WTeh ST3R1 T S | 71, 56, 48, 96, 76, 82, 98 3HIUA! P! JRIfId HRd gU, FHTH TR W I T 3fa0d T2
Options :

1. % 96

2. % 98

3. % 71

4. ¥ 82

Question Number : 119 Question Id : 54062617434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. (4052);=(1409)p
II. (1715)10=(BAB)1;
Options :
1. % Only I
2. % Only II
3. % Both I and I
4. ® Neither I nor II

Question Number : 119 Question Id : 54062617434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o I/ Y9 I8t 8/8?

. (4052);=(1409)y
II. (1715)10=(BAB)



Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 120 Question Id : 54062617435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

protocol is used for electronic data interchange. (Standard developed for the electronic exchange of machine — readable information
between businesses.)

Options :
1. ¥ X.12
2. % X.75
3. % XON
4, % X1.2.5

Question Number : 120 Question Id : 54062617435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gD Sl Sexasl o fog eIbTd BT IUANT T SITdT 8| (STIE & s ARNH-US-1 STHGRI & SAdei-e eH-UeH &
foTT faren Rydt fobam Tram |FTeh 1)

Options :
1. ¥ X.12
2. % X.75
3. % XON
4, % X125

Discipline2
Group Number : 7



Group Id : 540626645

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 540626827

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 540626999

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062617436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of EBCDIC?

Options :

1. # External Binary Coded Digit Interchange Code

2. # External Bit Code Digit Internal Code

3. % External Bit Code Decimal Interchange Code

4. ¥ Extended Binary Coded Decimal Interchange Code



Question Number : 121 Question Id : 54062617436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
.91t <. oms. &1 Rifdra U T B2
Options :

1. % URICAd 3R] Ples [Siole Sexds Bl
2. % TRICAd dIC HIS [SOE Serid hle

3. % TqCAd dIC HIS SIHd Sedsl Bl

4. ¢ THW IS IR Do SR §e3ddl HIg

Question Number : 122 Question Id : 54062617437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Write the binary code for EXAM in ASCII-7. (decimal code of A is 65)
Options :

1. ¥ 1001101101100010000011001101

2.+ 1000101101100010000011001101

3. % 1011000100000110110001000001

4. % 1000001101100010011011011000

Question Number : 122 Question Id : 54062617437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ASCIL-7 H EXAM & T 9118} o1 ford | (A &1 SRHd 1S 65 §)
Options :

1. % 1001101101100010000011001101

2. 1000101101100010000011001101

3. % 1011000100000110110001000001

4. % 1000001101100010011011011000



Question Number : 123 Question Id : 54062617438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
converts a source code to object code.

Options :

1. ¥ Compiler

2. # Linker

3. % Editor

4. % Loader

Question Number : 123 Question Id : 54062617438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 TH I IS & 3ifeoide BIs H yRafdd Hal gl
Options :

1. ¢ SR

2. % fofh

3. % Tfe?

4. % AR

Question Number : 124 Question Id : 54062617439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Method of subtraction by an additive approach is known as subtraction.
Options :

1. # inverse

2. ¥ complementary

3. % multiplicative

4. % associate

Question Number : 124 Question Id : 54062617439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
GNTol EPHI0T GRT UeTd &1 fafd B YcId & ¥4 H ST ol g |

Options :

1. % giqenw
2. ¥ Rh

3. ® TUHIHD
4. % Fgarl

Question Number : 125 Question Id : 54062617440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 resistors of 3 ohm each connected in series. What is the mean values of resistors?
Options :

1. # 1 ohm

2. % 9 ohm

3. % 6 ohm

4. # 18 ohm

Question Number : 125 Question Id : 54062617440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA® 3 3T & 3 IR YT T IS §U € | ST THged IRy &1 87
Options :

1. % 1 g

2. 9 37|

3. % 6 3@

4. % 18 3G

Question Number : 126 Question Id : 54062617441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which gate is represented by the following truth table?

Input

Output

0

I—I—I::II:I:D-
—lo|l—=lo| @

0
0
1

Options :

1. ¥ OR

2. % AND
3. ¥ NAND
4. % NOR

Question Number : 126 Question Id : 54062617441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied T ¢od gR1 forg Tie &1 ufaffe fosar s g2

T3 | smseqe

|—I-|—I-l:_"_‘_!ll!_':_!l:h-
— o - o|
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Options :

1. ¥ OR

2. % AND
3. ¥ NAND
4. % NOR



Question Number : 127 Question Id : 54062617442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following Boolean expression.

E(E +F)+ DE + D(E + F)
Options :

1.¥ E+DF

2. %* F+DE

3. * D+EF

4. %* D+E+F

Question Number : 127 Question Id : 54062617442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad gferad e &1 AR

E(E + F) + DE + D(E + F)
Options :

1. ¥ E+DF

2. % F+DE

3. % D+EF

4 * D+E+F

Question Number : 128 Question Id : 54062617443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following represents the borrow in a half subtraction?
Options :

1. * AB

, « AB



3.JAB

4% AB

Question Number : 128 Question Id : 54062617443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad & I &9 91 glew TedaRH H IUR o1 Ufafifia w82
Options :

1. % AB

Question Number : 129 Question Id : 54062617444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A monostable multivibrator has which of the following state(s)?

I. One stable state
II. One quasi-stable state

Options :

1. % Only I

2. % Only II

3. % Both I and I



4. % Neither I nor 11

Question Number : 129 Question Id : 54062617444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR s Hedtdisiey H Fafefad & @ o o fufa/fufaat o) gidt 8782

1. T RR RYUfd (o)

1. T Heu-RR fRUfT ()
Options :

1. % $Had |

2. % Had II

3. ¢ 1 AUT I A

4. % qEIIATRIII

Question Number : 130 Question Id : 54062617445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a demultiplexer, the number of output lines is n and the number of select lines is m. Which of the following is correct?
Options :

1. ¥ n=2Mm

2. % m=2"

3. ®* n=2m

4. % m=2n

Question Number : 130 Question Id : 54062617445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH SRR H, 3T3TYC A2 ! U1 n § R Jdide A3+ &] = m & | FEfied & § o a1 9et g2
Options :

l.¥ n=2m

2. % m=20"




3. % n=2m

4. % m=2n

Question Number : 131 Question Id : 54062617446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Both the inputs of XOR gate are connected to B. What will be the output?
Options :

1.¥0

2. % 1

3. B

4. % B

Question Number : 131 Question Id : 54062617446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XOR T1¢ & G §79¢ B ¥ I3 § | 3T3TYC & g2
Options :

1.¥0

2. % 1

3. B

4. = B

Question Number : 132 Question Id : 54062617447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ISAM in file organisation?
Options :

1. #* Indirect Sequential Access Method



2. ¥ Indexed Sequential Access Method
3. # Indirect Serial Access Method
4. % Index Serial Access Method

Question Number : 132 Question Id : 54062617447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HISd SHTSORM | 3115, TH.T.TH. T Sifad U o1 52
Options :

1. % gTSTERae R Rud Ty 4Ys

2. ¥ SRS Ry IRge TRY 7Ys

3. % SIS Rigd U Ays

4. % TS RS TR HYS

Question Number : 133 Question Id : 54062617448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Primary index in sequential order file organisation is also known as
Options :

1. # dense index

2. ¥ clustering index

3. # non-clustering index

4. ® gsparse index

Question Number : 133 Question Id : 54062617448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Rd 3R Brd H Uis] SoH &1 & =0 H Hf I S B |
Options :

1. % SHTSH

2. ¥ HARNI SSH




3. % qH-HAeNT S0
4. % W 33

Question Number : 134 Question Id : 54062617449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deductive model of DBMS is also known as
Options :

1. # Object-oriented model

2. ¥ Inference model

3. % Interactive model

4. # Differential model

Question Number : 134 Question Id : 54062617449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

319 TH.y. & [Sefaed Aigd &1 & =g ft FET ST g
Options :

1. % 3fguiae-iRdfce Arsd

2. ¢ Sy Hlgd

3. % 3cfaeq disd

4. % TSR Algd

Question Number : 135 Question Id : 54062617450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a system database that contains description of the data in the database.
Options :
1. ¥ Data Catalog
2. % Information Catalog
3. # Record Catalog



4. # File Catalog

Question Number : 135 Question Id : 54062617450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Ren Sered § o Seey & ST &1 Ao giar 81
Options :
1. ¢ ST BT
2. % SHRURME BelanT
3. % Rl dbeidn
4. % I3 Bl

Question Number : 136 Question Id : 54062617451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding a relation in second normal form?

L. It is in first normal form
II. Every non-key attribute is fully and functionally independent on the primary key

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 136 Question Id : 54062617451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. Hadl
2. % Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 137 Question Id : 54062617452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of F ?
F=AB+CD +BD
Options :
. AB+CD+BD

ZJ(E—EKC—DHB—ﬁ)

3W(A—BNE—ﬁKE—D)

L (A+ﬁ)(c+ﬁ)(B +D)

Question Number : 137 Question Id : 54062617452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F &7 AT F47 27
F=AB+CD +BD

Options :



~, AB+CD+BD

Zw(E+EﬂC—DKB—ﬁ)

. (A+B)(C+D)(B+D)

L (A+ﬁ)(C+ﬁ)(B +D)

Question Number : 138 Question Id : 54062617453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following K-Map represent the function F?

F(A, B, C, D) =S(0, 1,2, 6,8,9, 10)
Options :
Doo o1 11 10
ool 1|1 |
01 |
3

I8 L || I

s

1. ¥




CD

00 01 11 10
AB
00 il & 1 X
0] I
1
o 11 1
2. %
Doo 01 11 10
00| 1 i
o1l 1 1
3
111
3. %
Do o1 11 10
B
ool 111 |
0] 1
NERE
10 I
4. %

Question Number : 138 Question Id : 54062617453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & § & 91 K-Map F B &1 ufafAfia sar g2

F(A, B, C, D) =S5(0, 1,2, 6, 8,9, 10)



Options :

Doo o1 11 10
ool 111 |
01 1
3
0] 11 |
L
CD
00 01 11 10
AB
ool T1]1]1
0] I
1]
0] 111 I
2. ®
Doo o1 11 10
AB
00| 1 1
o1l 1 |
T
ol 111
3. ®




Question Number : 139 Question Id : 54062617454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A flip-flop is capable of storing information.
Options :

1. # 1 byte

2.9 1 bit

3. % 1 byte word

4. % 1 nibble

Question Number : 139 Question Id : 54062617454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fU-TT SHBR GU8)d B3 § Gem gl |
Options :

1. # 1dgc

2.¢ 1fse

3. % | 913 a8

4. % | Feva

Question Number : 140 Question Id : 54062617455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Shortcut key used to open Google chrome developer tools in windows is
Options :

1. * Ctrl+I

2. % Ctrl+Shift+1

3. ® Shift+]

4, % Ctrl+Alt+1

Question Number : 140 Question Id : 54062617455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fASIS H T 1 STAWR <o P! Wi o o7 SUTNT B! o+ aTelt Feahe bl o
Options :

1. % Ctrl+]

2. % Ctrl+Shift+I

3. % Shift+]

4. % Ctrl+Alt+]
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062617456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are correct?

I. The Journal is the book for chronological record
II. The ledger is the book for analytical record

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 141 Question Id : 54062617456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 142 Question Id : 54062617457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the method(s) of calculating depreciation amount?

I. Straight line method
II. Written down value method

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 142 Question Id : 54062617457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I




Question Number : 143 Question Id : 54062617458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Equivalence partitioning is a

Options :

1. * White box testing method

2. ¥ Black box testing method

3. % Comparison testing method

4. % Loop testing method

Question Number : 143 Question Id : 54062617458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UBdo uidafinee R
Options :

1. % RS Sio SRETAYS

2. ¥ &P SR CRETHYS

3. % HURGH T AYsS

4. % U cRETAYE

Question Number : 144 Question Id : 54062617459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the other name of Data Flow Diagram (DFD)?
Options :

1. # Flow chart

2. % Pictorial graph

3. % Bubble chart

4. # Di-graph

Question Number : 144 Question Id : 54062617459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST Tl ST3UTH &1 GIRT ATH 1 82
Options :

1. % G A

2. % fUHINTd U

3. ¢ g9 d1¢

4. ® SIg-UTh

Question Number : 145 Question Id : 54062617460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In model, software is developed in a series of incremental releases.
Options :
1. ¥ Spiral

2. # Sequential
3. # Concurrent
4. % RAD

Question Number : 145 Question Id : 54062617460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« g

2. % RydRra

3. % BlgiT

4. % ¥S (RAD)

Question Number : 146 Question Id : 54062617461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the full form of CASE tool in software engineering?
Options :

1. ¥ Computer Aided Software Engineering

2. % Computer Application Software Engineering

3. % Control Application Software Engineering

4. ® Code Aided Software Engineering

Question Number : 146 Question Id : 54062617461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YR VST FTedTR Suil-aRT

2. % SR VGG JGedaR ST

3. % daold YRl e Hiteder Seifaia

4. % PHIg UES HHREaWR SOl

Question Number : 147 Question Id : 54062617462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Boehm’s, what are the definitions of verification and validation?
Options :

1. # Verification: Is the software free of errors?

Validation: Is the software commercially viable?

2. % Verification: Is the software commercially viable?
Validation: Is the software free of errors?

3. ¥ Verification: Are we building the product right?
Validation: Are we building the right product?

4. ® Verification: Are we building the right product?
Validation: Are we building the product right?

Question Number : 147 Question Id : 54062617462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SIeH & TR, THTOfeHR0T (AR HT) TUT AT (TS TH) Bt URHTSTE T 82
Options :

1. % JHTONGRU: 1 AT Ffedl ¥ Tad 82

HIIHRUT: T WU daR ATaHIRie U F e 82

2. % HTONAHRUT: T e dTR ATGHIRIG TU I e g2
HTIHRUT: 7T GFeaaRr Ffedl o Jod 82

3. ¢ JHTONERUT: 7 89 I &1 gl o (AT #3382

AIHUT: T §H Ta! IdTG &1 A0 5 38 82

4. % gATOfARUT: ST §H Tt TG ol AT BRI 82
HIIHRUL: T 8H SIS BT Jgt J A0 Hr | 82

Question Number : 148 Question Id : 54062617463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement(s) is/are correct regarding the feasibility study?

L. It determines whether developing the product is financially feasible
I1. It determines whether developing the product is technically feasible

Options :

1. % Only 1

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 148 Question Id : 54062617463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 149 Question Id : 54062617464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N is the number of nodes of the control graph and E is the number of edges in the control flow graph. What is Mc Cabe’s cyclomatic complexity
V(G)?

Options :

. * V(G)=E+N+2

2.¥ V(G =E-N+2

3.% V(G =E+N-2

4. % V(G =E-N-2

Question Number : 149 Question Id : 54062617464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N f=rr U1 & g @ TRe g SR E i UaTg I § Told &Y WS 8 | Mc Cabe & ARG HIQfRICT V(G) T 82
Options :

. * V(G =E+N+2

2. V(G)=E-N+2

3.% V(G)=E+N-2

4. % V(G =E-N-2

Question Number : 150 Question Id : 54062617465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A java program that is embedded in HTML document and runs in the context of java capable browser is known as
Options :



1. ¥ applet
2. % canvas
3. % doctags

4. * frame window

Question Number : 150 Question Id : 54062617465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Java W S HTML Sidgie | 3{dfifgd g iR Java T&H STSOR & Yo & Iadi g, % = T ST ST 8 |
Options :

1. ¥ applet

2. % canvas

3. # doctags

4. % frame window

Question Number : 151 Question Id : 54062617466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement in this code is unreachable switch(x)?

{
case 1:
al=100;
case 2:
a2=1000;
a3=10;
break;
a4 =10000;
;

Options :



1. % al =100;

2. % a2 =1000;
3. % a3 =10;
4. % a4 =10000;

Question Number : 151 Question Id : 54062617466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y BIg A D T Y FARATd (3T & (x) 82

case 1:

al=100;

case 2:

a2 =1000;

a3 =10,

break;

a4 =10000;
;

Options :

1. ® al =100;
2. % a2 =1000;
3. % a3=10;

4. % a4 =10000;

Question Number : 152 Question Id : 54062617467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process in an operating system in which the output of any program is not printed directly on printer but dumped onto a reserved area of a
disk is known as



Options :

1. % System call

2. % Teardown operation
3. ¥ Spooling

4. % Swapping

Question Number : 152 Question Id : 54062617467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR Reewt § wap ufehan, s fareht T &1 3i13eye Uae w0 ¥ fifer IR fife 781 811 8 aft U fove & SRféd e u
foaT ST &, & =0 H S St g |

Options :

1. % ReH Bid

2. # fCORSIS SITURTH
3. ¢ e

4. % Wt

Question Number : 153 Question Id : 54062617468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Disabling an interrupt is known as
Options :

1. ¥ masking

2. # run

3. % stop

4. % halt

Question Number : 153 Question Id : 54062617468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol 3oy &l feqed BT FEUHAAISA




Options :

1. ¢ HIRDT
2. %1

3. % W
4. % Blee

Question Number : 154 Question Id : 54062617469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a main memory with the capacity of 3 page frames which are initially empty. Page reference is 4, 7,6, 1,7, 6, 1, 2, 7, 2. What is the
number of page fault using optimal page replacement algorithm?

Options :
1. %7
2.% 6
3.5
4. % 4

Question Number : 154 Question Id : 54062617469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %7

2.% 6

3.5

4. % 4

Question Number : 155 Question Id : 54062617470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inner most layer of operating system which is always present in main memory is known as



Options :

1. # hardware

2. # user interface

3. # application program
4. ¥ Kkernel

Question Number : 155 Question Id : 54062617470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Rter ) god Hiddl R o gA g A A SURG AR, S EUA T ol 2|
Options :

1. % GIEaWR

2. % gOR SRBY

3. % URihRH U

4. A

Question Number : 156 Question Id : 54062617471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The instruction which are executed only in kernel mode is known as
Options :

1. % memory instruction

2. % arithmetic instruction

3. ¢ privileged instruction

4. * logical instruction

Question Number : 156 Question Id : 54062617471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEHIA S had Hd Ais H Ffed garg, P T H ST SI1dT |

Options :




1. % ORI SCaRHA

2. % 3pfHfes ScaRM
3. ¢ Uifdeeivie SeaRM
4. % AP SCIRM

Question Number : 157 Question Id : 54062617472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Move the Read/Write head of disk in or out to position on a correct track is known as
Options :

1. * Waiting time

2. % Access time

3. % Seek time

4. % Latency time

Question Number : 157 Question Id : 54062617472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfdn ey

2. % U eIgH

3. ¢ i CIgH

4. % et eEH

Question Number : 158 Question Id : 54062617473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Data structure maintained by the operating system to maintain information for each thread within a process is known as
Options :

1. # Process control block



2. ¥ Thread control block
3. % Symbol table
4. # Scheduling queue

Question Number : 158 Question Id : 54062617473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U1 & i D IS o ol STHHRT & YaeH o fog SIToRICT Rived gRT dYyd ST TR &1 & U H THET A
Options :

1. % Y99 el silh

2. ¢ IS Dheld sl

3. % e o

4. % YSYHT R

Question Number : 159 Question Id : 54062617474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Monotonicity of preferences implies that the indifference curves are

I. Downward sloping
II. Positively sloping

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 159 Question Id : 54062617474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. YT aTd

I1. Y-dTHD @It
Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT
4. % qEIIATR I

Question Number : 160 Question Id : 54062617475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a qualitative tool used by RBI to control money supply?
Options :

1. ¥ Moral Suasion

2. # Cash Reserve Ratio

3. % Bank Rate

4. ¥ Open Market Operations

Question Number : 160 Question Id : 54062617475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed & I &1 91 U T0Nae® SUSHR ¢ fTIeT SUANT SRS §RT g1 3afd &I Fafd & o fo forar sirar g2
Options :

1. ¢ Afd% gag

2. % qhal RI& fafe srurd
3. % §P R

4. % Gl SR YR=TeH

Discipline4

Group Number : 9
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Group Maximum Duration :
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Edit Attended Group? :
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Group Marks :
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Number of Questions to be attempted :

Section Marks :
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Question Shuffling Allowed :

Question Number : 161 Question Id : 54062617476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

540626647
0

0

No

No

0

20

No

Discipline4

540626829
1

Online
Mandatory
20

20

20

Yes

1
5406261001
Yes

A connection that allows traffic either way, but only one way at a time is known as

Options :

1. # full duplex
2. ¥ half duplex
3. % duplex

4. * simplex



Question Number : 161 Question Id : 54062617476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HaRM ol fhdt ot TRe T v & Al a1 g, AT t@ T A aa Udh el dke ¥ adle,  d YA IOl
Options :

1. ® Bd @

2. ¥ BIeh gWia

3. % gwia

4. % Rygaeq

Question Number : 162 Question Id : 54062617477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of DVMRP Protocol?
Options :

1. # Distance Vector Multiple Routing Protocol
2. ¥ Distance Vector Multicast Routing Protocol
3. % Distance Vector Multitask Routing Protocol
4. ® Distance Vector Message Routing Protocol

Question Number : 162 Question Id : 54062617477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1.t TH R . DidhTd BT SRifad & =1 82
Options :

1. # {3 dgex AR IUd ST Welbid

2. ¢ TS Jac AR IBE T Uleibid

3. % {3y dack A e =i Uieidhid

]

4. % fEXg Joex AA T UICIhId




Question Number : 163 Question Id : 54062617478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which modulation technique is applied to a binary signal in figure (a) to achieve figure (b)?

o 1 0 1 1 o0 O 1 O O 1 O O

(a)

(b)
Options :
1. ¥ Amplitude modulation
2. % Frequency modulation
3. * Phase modulation

4. % Quadrature phase shift keying

Question Number : 163 Question Id : 54062617478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(a)

!

Options :

1. ¢ UTciiegs HiegaH

2. % Tl HiegaxH

3. % Tl HlegaRH

4. % DTSR ol R fbfiT

(b)

Question Number : 164 Question Id : 54062617479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The loss of energy as signal propagates outward is known as
Options :

1. # Noise

2. # Distortion

3. ¥ Attenuation

4. % Scattering

Question Number : 164 Question Id : 54062617479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I (A139)

2. % fawun

3. ¢ &iuA

4. % gepioA

Question Number : 165 Question Id : 54062617480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Systems in which multiple users share a common channel in a way that can lead to conflicts are widely known as
Options :

1. # Carrier

2. % Communication network

3. ¥ Contention

4. % Bus

Question Number : 165 Question Id : 54062617480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HRW

2. % HRADHIA Acdd

3. ¢ HeTH

4. % dY9

Question Number : 166 Question Id : 54062617481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Match the following.

Repeater | 1 | Network layer
Bridge ii | Transport layer
Routers | iii | Data link layer
d | Gateway | iv | Physical layer

(B =l ]

Options :

1. # a-ii, b-i, c-iii, d-iv
2. # a-iii, b-ii, c-1, d-iv
3. ¥ a-iv, b-iii, c-1, d-ii

4. ® a-i, b-iii, c-iv, d-ii

Question Number : 166 Question Id : 54062617481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o gafiad &3
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Options :

1. % a-ii, b-i, c-iii, d-iv
2. % a-iii, b-ii, c-i, d-iv
3. ¥ a-iv, b-iii, c-1, d-ii

4. ® a-i, b-iii, c-iv, d-ii



Question Number : 167 Question Id : 54062617482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the virtual machine component of microsoft .NET Framework which manages the execution of .NET program?
Options :

1. * Code level security

2. % Cross language class inheritance

3. ¥ Common language runtime

4. % Common type system

Question Number : 167 Question Id : 54062617482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HASHIUE NET THID & STHRI 7RI Ued, Sifes NET URITH & fAwi1e &1 Uiy Sl g, BT TH &1 82
Options :

1. % PIs Ao Ry

2. % HIY AN I 3ok

3. ¢ HIF 1S TACISH

4. ® HIAF 3y ReA

Question Number : 168 Question Id : 54062617483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a system to make a file or directory visible in multiple parts of the system’s file tree in Linux operator system.
Options :
1. # Directories
2. % Special files
3. % Links
4. ® Sockets

Question Number : 168 Question Id : 54062617483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % STEdeidl

2. % W Bl

3. ¢ oo

4. % Topcy

N

Question Number : 169 Question Id : 54062617484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The deliveries of goods or services ordered on an e-shop do NOT depend upon which of the following?
Options :

1. # Size of products

2. ¥ Cost of products

3. % Urgency

4. # Nature of products

Question Number : 169 Question Id : 54062617484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JATG] BT 3THR

2. ¢ JdIGI B BIHAT

3. % ARG hdl

4. % IAIGI DI Upid

Question Number : 170 Question Id : 54062617485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement(s) is/are correct regarding digital certificates?

I. A digital certificate does not include the name of the CA who issues it.
II. Digital certificates are based on public key cryptography.
III. These certificates are available only in one strength i.e. 128-bit encryption.

Options :

1. ® Tand IT
2. % Only III
3. % Only I
4. % Tand III

Question Number : 170 Question Id : 54062617485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdUTII

2. % Had 11

3. ¢ Had I

4. % TdYT I

Question Number : 171 Question Id : 54062617486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a max-heap?
Options :






@ 6 @ @

4.

Question Number : 171 Question Id : 54062617486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



@ @ @ @

4.

Question Number : 172 Question Id : 54062617487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which rotations in AVL trees are known as single rotations?



Options :

1. ¥ LL and RR
2. % LLand LR
3. # RRand RL
4. % LR and RL

Question Number : 172 Question Id : 54062617487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AVL €1 8§ HH ¥ gUM Thd uH & U & S SfTd 87
Options :

1. ¥ LLdYTRR

2. % LLAYTLR

3. % RRAYTRL

4. % LR dYTRL

Question Number : 173 Question Id : 54062617488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the at most height of red-black tree with n internal node?
Options :

1. % n

2. # logyn

3. ¥ 2log, (n+ 1)

4. % log, 2n+1)

Question Number : 173 Question Id : 54062617488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
n 3MAR® (3 A1 AT ATA-BIA <1 DI ABTH ST T Bl /2

Options :




1. % n

2. # logyn

3. ¥ 2log, (n+1)
4. % log, 2n+ 1)

Question Number : 174 Question Id : 54062617489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following AVL tree.

FaY
ANWAN
i

18 70

What will be the resultant AVL tree after insertion of node with value 20?
Options :



38

/\ /\

23 45

/ /
18 70
\
L 20
38

/\ /\

20 45

AN/

18 23 70
2. ¥



Question Number : 174 Question Id : 54062617489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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38
7\
14 56

8/ \2? 45/ \82
S0

18 70

A 20 TTET IS SIC B &SI TROTHT AVL < &1 R

Options :

I4/38\56
8/ \23 45/ \82
£ £



38

7N\
/\ /\

20 45

AN/

18 23 70
2. ¥

38

7N\
A\ /\

8 23 45

20 70

3 % 18



14 56

Question Number : 175 Question Id : 54062617490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Preorder traversal of binary search tree is 38, 14, 8, 23, 18, 20, 56, 45, 82, 70. What is the postorder traversal of binary search tree?
Options :

1. % 23,20, 18, 14, 8, 38, 45, 56, 70, 82

2. % 818, 20,23, 14, 45, 70, 82, 56, 38

3.9 8,20, 18, 23, 14, 45, 70, 82, 56, 38

4. % 82 70, 56, 45, 38, 23,20, 18, 14, 8

Question Number : 175 Question Id : 54062617490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T < BT YT TSR Cauial 38, 14, 8, 23, 18, 20, 56, 45, 82, 70 | AR} T <1 1 URE 3{Tex caydl &l g2
Options :

1. % 23,20, 18, 14, 8, 38, 45, 56, 70, 82

2. % 8,18, 20,23, 14, 45,70, 82, 56, 38

3.98 20, 18,23, 14, 45, 70, 82, 56, 38

4. % 82,70, 56, 45, 38, 23,20, 18, 14, 8



Question Number : 176 Question Id : 54062617491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acts as an intermediary between the specialist and the expert system?
Options :

1. # Knowledge base

2. # Inference engine

3. % Data dictionary

4. ¥ Knowledge engineer

Question Number : 176 Question Id : 54062617491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed @ 3 oF w1 WiRkrftRe 3R Taqud Red & &l A9l & U 1 H1 o1 62
Options :

1. % ATl oY

2. % JhY SO

3. % g feRm

4. ¢ AT olAR

Question Number : 177 Question Id : 54062617492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding batch transaction processing?

I. The database is updated when the transaction is processed.
II. The associated cost is very high.
II1. Reports generated are required only at a scheduled interval.

Options :
1. % Only IT
2. % Only IIT



3. % Tand II
4, % Jand III

Question Number : 177 Question Id : 54062617492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S e TR % Yo § Fafifed & § & 918 T 98 8722

. T8 39y TolaRM WY 814 WR 3Use gidr g

1. ¥ ANTd 9gd S Bt g

111, I NUi Fad Te MYiia iarid W e gl |
Options :

1. % $Had Il

2. ¢ Had Il

3. % [qUTII

4. % [TUTIII

Question Number : 178 Question Id : 54062617493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of GPRS in mobile computing?
Options :

1. ¥ General Packet Radio Service

2. # General Packet Radiation Service

3. # General Package Radio Service

4. % General Packet Route service

Question Number : 178 Question Id : 54062617493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HETSd ST H off. U1 3R.TY. H1 SR U F1 82
Options :




1. ¢ SRd Ube Ygar afdg
2. % JRd Udpe S afdy
3. % SRd Uy ST fdy
4. % SR Ube Tc Jfag

Question Number : 179 Question Id : 54062617494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a part of the system architecture of GSM in mobile computing?

I. Radio Subsystem
II. Networking and Switching Subsystem
III. Operation Support Subsystem

Options :

1. ® Tand II

2. % Il and III
3. % Iand III

4. % 1,1 and IIT

Question Number : 179 Question Id : 54062617494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # § o9 w1 Maed e § of tq.ud. & Red siifdhedeR &1 Td HIT /2

1. & gafeq

I1. Seafd 3R fafn gafier
11 3{TRTE UIE YaReH
Options :

1. % 19U

2. % [ dUTIII

3. % 1 YT

4.« 111 YT




Question Number : 180 Question Id : 54062617495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The duration of phosphorescence exhibited by a phosphor is known as
Options :

1. % phosphorescence

2. % fluorescence

3. % persistence

4. % deflection

Question Number : 180 Question Id : 54062617495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRBR GRTUGRIA BRBRUT & 3afy & & =UH AT A 8|
Options :

1. % BRBRIY

2. % TRREY

3. ¥ RRRCT

4. % fSHRIBIA
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Question Number : 181 Question Id : 54062617496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the CMY co-ordinates of a colour at (0.2, 1, 0.5) in the RGB space?
Options :

1. # (0.8, 1,0.5)

2.9 (0.8,0,0.5)

3. % (1.2,0,1.5)

4. % (0.2,0.8,0.3)

Question Number : 181 Question Id : 54062617496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RSS! (RGB) WA H (0.2, 1, 0.5) TR Teb T T WTHATS (CMY) Fcwiics 1 1l 82
Options :

1. * (0.8, 1,0.5)

2.9 (0.8,0,0.5)



3. % (12,0, 1.5)
4. % (0.2,0.8,0.3)

Question Number : 182 Question Id : 54062617497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a triangle with co-ordinates points: A(0, 0), B(3, 3) and C(2, 5). When scaling parameter is 2 towards x-axis and 4 towards y-axis, then
what are the new co-ordinates of triangle?

Options :

1. ¥ A(0, 0), B(6, 12), C(4, 20)

2. % A(0,0),B(5,7),C4,9)

3. % A(2,4),B(5,7),C4,9)

4. % A(0,0), B(3/2,3/4), C(1, 5/4)

Question Number : 182 Question Id : 54062617497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frd=riap fagath: A0, 0), B3, 3) 3R (2, 5) aTd Ueh IS WR IR &% | 576 ThIehT RTHICR x-318f BT 3R 2 3R y-31& Bt 3R 4 8, Ot By
& U A& R E?

Options :

1. ¥ A(0, 0), B(6, 12), C(4, 20)

2. % A(0,0),B(5,7),C4,9)

3. % A(2,4),B(5,7),C4,9)

4. % A(0,0), B(3/2,3/4), C(1, 5/4)

Question Number : 183 Question Id : 54062617498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the person who runs our web servers.
Options :
1. % Data analyst
2. % Web master



3. % Database designer
4. ¥ Web Designer

Question Number : 183 Question Id : 54062617498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 gfad g ol 8UR 39 JaR AT g
Options :

1. % ST TR

2. ¢ 99 AR

3. % STy &g

4. % 99 {SogR

Question Number : 184 Question Id : 54062617499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the extension of MPEG Audio file?
Options :

1. # .mpeg

2. % mp3

3. % mp4

4. % mov

Question Number : 184 Question Id : 54062617499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MPEG 3Tl %ISd &1 TRICIH 1 52
Options :

1. % mpeg
2. % mp3
3. % mp4



4. ® mov

Question Number : 185 Question Id : 54062617500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors is taken into account when we develop a Knowledge Management System (KMS)?
Options :

1. ¥ It requires a knowledge contract.

2. ® It is a cheap management system.

3. # It is a definite process.

4. % It has no human implications.

Question Number : 185 Question Id : 54062617500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Aoic ey (FuHey) fas g evd g9a fFgfifed 7 @ o4 RS &) & § 31971 o1dT 82
Options :

1. ¥ 3P o TP ATcis] dicae b ATaHAT 5|

2. % Ug TP &1 Iotie Rerd g |

3. % U8 Us (Af¥a ufran g

4. % THB1 DIs AHA Mg Tai o

Question Number : 186 Question Id : 54062617501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the beginning, when reporting a meeting one should give precise information about the
Options :

1. ¥ history of the organisation

2. % title of the speech

3. % future prospects

4. # participants



Question Number : 186 Question Id : 54062617501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H, AT NI HRATH & aR # 9l® JIHSGR] ¢ ot 91fgu|
Options :

1. ¢ G & S8

2. % YTy & R

3. % Yidw &t Furaredl

4. % gfquriiral

Question Number : 187 Question Id : 54062617502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which symbol in flowchart is used for processing?
Options :

<&

1. %

P —
P
e

Question Number : 187 Question Id : 54062617502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TAETe | {59 Udies T IUTNT UshHUT & oW fopam Sram g2

Options :

<&

1. %

=
T
0

4, %

Question Number : 188 Question Id : 54062617503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are included in the user documentation of program?

I. Program formatting
II. Description of program and its purpose
II1. Description of program output

Options :

1. % 1l and III
2. % Tand II

3. % TandIII

4. % T 1 and III

Question Number : 188 Question Id : 54062617503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafaRad @ 9 &9 3 TR & goR SIagHe M H M g2

1. 91U W00l
11, TRITH &7 f3aRuT 3R ITHT ST
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Options :

1.« 1T dYTIII
2. % 14T

3. % 1 ddT I
4, % 1, 11 dYT 11

Question Number : 189 Question Id : 54062617504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The median of 7, 5, 8, x, 12, 17 is 10, then what is the value of x?
Options :

1. % 13

2. % 11

3.9

4. 12

Question Number : 189 Question Id : 54062617504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7,5,8,x, 12, 17 B HIEDT 10 B, A x BT AH T 62
Options :

1. % 13

2. % 11

3.0

4. ¥ 12

Question Number : 190 Question Id : 54062617505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a bulb factory, machines P, Q and R manufacture respectively 25%, 35% and 40% of the total. Of their output 5, 4 and 2 percent respectively
are defective bulbs. A bulb is drawn at random and it is found to be defective. What is the probability that it was manufactured by machine Q?

Options :
1. ® 0.55
2. % 045
3. % 0.31
4. ¥ 041

Question Number : 190 Question Id : 54062617505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh §cdl HREM H, FRI P, Q 3R R B BT HHIL: 25%, 35% 3R 40% ITG PRl § | S AMIYE H A HH: 5, 4 3R 2 U Teq
WS & | TTefasd U Y U ded [ob1ar ST § 31R I8 WRIE Uil SifdT & | 39! o Wifdedt & fb 39 7= @ gy Saanfed fowar mar ur
Options :

1. % 0.55

2. % 0.45

3. % 031

4. 041

Sub-Section Number : 2

Sub-Section Id : 5406261003

Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 54062617506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the characteristic(s) of Teacher Centred Approach of teaching — learning?

I. Extrinsic modes of motivation like praise, rewards and punishment are generally used by the teachers.
II. Emphasis is given on passive listening, reading and writing and reproducing things taught by or as directed by the teacher.

Options :
1. * Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 191 Question Id : 54062617506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered I @ &9 9/ e & e HiEd SUNTH S1/d I 2/8?

1. SIFHORUM & TR d¥idh I TRI% BT, 519 3R ol 31 I =0 B e & gRT Suan fPu Sd &1
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATRIII

Question Number : 192 Question Id : 54062617507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘It is not always possible to bring real objects to the classroom’. Which of the following is/are the reason(s) behind the given statement?

I. Size of the object
II. Safety
II. Cost

Options :

1. % 1, Il and III
2. % Il and III
3. % Only III
4. % Jand I

Question Number : 192 Question Id : 54062617507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AR a3 DI THRT HET H AT THT 181 il &7 | FafaRad § § oH WA 3T T HyH & IS F1/db R §/R?

L. 9% & 3HTHR BT Y

I1. &

1. Hod
Options :

1.« 1, 11 ddT 11T
2. % I dYTIII

3. % Had Il
4. % 19YUTII

Question Number : 193 Question Id : 54062617508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘If you are planning to teach the different states of India in class VI, then you need to know whether the students are well conversant in using the
atlas’. This given statement is referred to which of the following phase(s) of Assessment For Learning?

I. Formative Assessment
II. Diagnostic Assessment

Options :

1. * OnlyI

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 193 Question Id : 54062617508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 3T FH&T VI H YR & AT I} & IR H UG B AT ST 38 §, a1 3T I S DI SHTaIHdl @ &1 9= bl Teay BT Halt
Hifd START AT AT € AT a1 | T8 o T o SHTITH 5 e Bi HEfaiad 8 9 fhd sfa1/sfawiraf & Yafid Hrdl 8/8?



. GOl e
1. eMTES had
Options :

1. % Had 1
2. ¢ HAd I
3. % [ UGl
4. % qEIIATR I

Question Number : 194 Question Id : 54062617509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While giving written feedback in Assessment for Learning, which of the following point(s) need to be taken care of?

I. Don’t jump straight to errors. Praise first.
II. Encourage the student to make corrections. Don’t simply write the correct answers, spellings and so on.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 194 Question Id : 54062617509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIFERTH Bg e H faRad ufagfy &d v Fafafed o © fod s1a/aTdl &1 & &1 8id /87

1. TheH el OR 1 318 | Ugdl U= Hi |
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Options :

1. % ®Had 1

2. % Had II

3. ¢ 1aUT I el



4. % ATEIIATSII

Question Number : 195 Question Id : 54062617510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the first step for learning a language.

I. Speaking
II. Listening

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 195 Question Id : 54062617510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTST o SHTSTH T Ugell =R G|

L. ST
IL g1

Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 196 Question Id : 54062617511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How can we provide opportunities for listening and speaking in the classroom?



I. Listening and singing poems
II. Discussion through pictures

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 196 Question Id : 54062617511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hef T G- qUT S b ol §H o SaER I BT Tl g7

1. HIdT AT 3R 71

11. =t & Areny § == e
Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl

4. % qEIIATE I

Question Number : 197 Question Id : 54062617512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In order to use drama as a linguistic activity, which of the following characteristic(s) need to be included?

I. Freedom
II. Enjoyment

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 197 Question Id : 54062617512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HINTS TTAfAfY & =0 H ATeh BT IUTNT H & oY fohg ifieteionifieaion ol Qe -1 Ses] gidT 82

. TSI

11. 3H<
Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 198 Question Id : 54062617513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
People who work with visual images includes

L. painters
II. sculptors

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. % Neither I nor II

Question Number : 198 Question Id : 54062617513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 199 Question Id : 54062617514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT correct?

I. Gender is a socio-cultural construct.
II. Sex is systemic.

Options :

1. % Only I

2. ¢ Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 199 Question Id : 54062617514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. ¥ Had Il

3. % 1UT I gH




4. % ATEIIATSII

Question Number : 200 Question Id : 54062617515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the special feature(s) of Kasturbha Gandhi Balika Vidyalya?

I. Providing residential facilities to create a free environment for learning
II. Providing life skill trainings
III. Providing extra coaching for slow learners

Options :

1. % 1, I and III
2. % Only IIT

3. % Il and III
4. % Jand III

Question Number : 200 Question Id : 54062617515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1, 1 YT 11
2. % oHddl I
3. % I dYUTIII
4. ® 1dYTIII




